THE FERTILISERS AND CHEMICALS TRAVANCORE LTD (A Government of India Enterprise)

NOTICE INVITING e-TENDERS

1.0 e-Tenders (two cover system) are invited from experienced transport contractors for undertaking the work of clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana for a period of 2 years, through https://e-procure.gov.in portal. The details of work are described in the Scope of Work (Annexure-II) attached. The bidders may also refer the Instructions to Bidders (Annexure-I) and Terms and Conditions (Annexure-VI) applicable for the proposed contract.

PLEASE NOTE THAT ONLY ON LINE BIDS WILL BE CONSIDERED AGAINST THIS TENDER

Visit https://eprocure.gov.in for online bid submission

Enquiry No. MM/180/E28527 Dated 18.11.2023		
	TWO COVER SYSTEM	
Mode of Tendering	Part A: Pre-Qualification cum Techno-Commercial Bid	
	Part B: Price Bid (Percentage Rate BOQ)	
Due date & time for Submission of bids	02.12.2023 / 03.30 P.M.	
Date & Time for opening of Part A of the Bid.	04.12.2023 / 10.00 A.M.	
Name of Work/Description	Clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana for a period of 2 years – Annexure II attached	
	Rs.1,00,000.00/- for each RH by NEFT/RTGS	
EMD	Rs.1,00,000.00/- for each RH by NEFT/RTGS	
EMD Security Deposit	Rs.1,00,000.00/- for each RH by NEFT/RTGS5% of the total contract value	
Security Deposit	5% of the total contract value Two years starting from the date of commencement of work as per letter	

3.0 **TENDER DOCUMENTS (e-TENDER)**

Visit our website <u>www.fact.co.in</u> or Central Public Procurement Portal <u>https://eprocure.gov.in</u> for tender documents. Bid submission shall be in electronic form through <u>https://eprocure.gov.in</u> only. See Annexure I 'Instructions to Bidders (e-Tender)'.

4.0 **PRE QUALIFICATION CRITERIA**:

Please refer Annexure-III (Pre-qualification criteria for bidders)

5.0 SCOPE OF WORK:

Please refer Clause 8 of Annexure VI Terms and Conditions of contract

6.0 **EVALUATION OF BIDS:**

- 6.1 The bids shall be evaluated based on the prequalification criteria and other terms and conditions stipulated in the enquiry.
- 6.2 The bidder has to enter a single "Excess (+) or Less (-) percentage" for each RH in the BoQ for which the bidder wishes to quote. This Excess (+) or Less (-) percentage quoted by the bidder will be applied on the FACT's estimate for each item of work for the RH and the rate per unit of each item of work quoted by the bidder will be automatically calculated. Evaluation of bids and determination of the lowest bidder (L1) for each RH shall be worked out by multiplying the rate per unit of each item quoted by the bidder with the respective quantity given as per the schedule of work given in the Price Bid (BoQ) Format and computing the combined total value of all the items of work for the respective RH. The technically acceptable bidder who has quoted the least combined total value in the BOQ for an RH shall be selected as L1 bidder for that RH.
- 6.3 In case more than one bidder become the L1 for a particular RH based on the evaluation as above, such L1 bidders alone shall be given an opportunity to submit revised lower price bids, if any, in sealed cover on or before the due date and time specified. Instructions stipulated in the request for submitting revised reduced price, with regard to submission, opening and evaluation of price bids shall be complied with for such revised bids. However, while submitting the revised price bid, such bidders shall not increase the rates quoted by them in their original price bid. In case more than one bidder continue to be L1 despite submitting the revised lower price bid as above, FACT reserves the right to accept the bid submitted by the bidder among those L1 bidders, having the highest capability in terms of volume of work handled at the RH during the period specified under PQ criteria. Purchase Preference shall be extended as per clause 8.0 of Instructions to Bidders.
- 7.0 **Period of Contract**: The period of contract shall be two years from the date of commencement of work as per letter of intent/work order.
- 8.0 **DISQUALIFICATION:** FACT dealers attached to the ASC which operates the RH, will be disqualified as a bidder against enquiry for clearing, handling & transportation of bagged products at the RH.

9.0 **ITEMS OF WORK / RH TO BID**

- 9.1 Bidder may submit his bid through on line for one or more RH. Rates shall be quoted as per the price bid formats (BoQ) only.
- 9.2 All items of work covered under each RH will be evaluated together for determination of competitive L1 bidder for award of contract.

PRPD. BY:			2
Transport Pervices	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

10.0 **GENERAL**

- 10.1 When bids are received from any proprietorship / firm / company having the same proprietor or one or more partners/directors in the business organization of any other party (hereinafter called Common Firms), such bids shall be considered having been received from only one applicant in different names and the lowest acceptable quotation of such Common Firm shall only be considered for evaluation.
- 10.2. Bids from bidders against whom any criminal case, enquiry or investigation/report by authorities like Vigilance, CBI etc., are pending in relation with FACT or bidders who are defaulting contractors of FACT shall be disqualified and rejected.
- 10.3. FACT reserves the right to reject any or all bids without assigning any reasons whatsoever, and / or based on the past unsatisfactory performance by bidders at FACT / other PSEs / Govt. Departments. The opinion of FACT regarding the same shall be final and binding on the bidders.
- 10.4. Integrity Pact: The bidders shall sign and submit an "Integrity Pact (IP)" to be executed between the bidder and Fertilisers and Travancore Ltd. along with the bid as per Annexure-XI. IP shall be implemented through the following Independent External Monitors (IEMs) for the bid.

1. Shri Ahmad Javed	2. Shri B. Ravichandran
601-A, Lotus Enpar Residency, Shakarrao Naram Path, Lower Parel, Mumbai-400013.Mobile:9821058152 Mail: ajtopcop@gmail.com	Flat No.TF3, RKC Subrabath, 7th Street, Kumaran Colony, Vadapalani, Chennai 600 026 Mobile: 9482234346 Email: bravi1958@gmail.com

<u>Note 1</u>: The Integrity Pact signed by the bidder shall be submitted by the bidder along with other documents.

<u>Note 2:</u> In case bidders require any clarification pertaining to the tender please contact the officers at 10.6 below. "*Kindly note that the Independent External Monitor <u>shall not be contacted</u> for clarifications regarding the tenders."*

- 10.5 Any information on site familiarization / nature of work, if required by the bidders, can be had from the Zonal offices listed out in Annexure XI.
- 10.6 For any clarification on this enquiry please contact Asst.General Manager (Materials)-T&S, [Phone- 0484- 2545196, 2568260] or Sr.Officer (Materials)-T&S [Phone No.0484-256 8629], CENTRALISED MATERIALS, FACT Ltd., FACT PD Administrative Building, Udyogamandal PIN-683 501.

Yours faithfully,

For THE FERTILISERS AND CHEMICALS TRAVANCORE LTD

Asst. GENERAL MANAGER (MATERIALS)-C

PRPD. BY:		3	
Transport Services	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

List of Enclosures of this NIT is as follows:

SI. No.	Document	TITLE	No. of Pages
1	Annexure I	Instructions to Bidders (e-Tender)	7
2	Annexure II	Scope of Work	
3	Annexure III	Pre-Qualification Criteria for bidders	1
4	Annexure IV	Vendor Data Updation (Declaration) Form	4
5	Annexure V	Compliance Statement	1
6	Annexure VI	Terms and Conditions	11
7	Annexure VII	Un-priced copy of Price bid format	
8	Annexure VIII	Price bid format (BoQ)	1
9	Annexure IX	Proforma of Bank Guarantee for Security Deposit	2
10	Annexure X	Proforma of Agreement	1
11	Annexure XI	Details of FACT Zonal Offices in Andhra/Telangana	1
12	Annexure XII	Integrity Pact	5

PRPD. BY:			4
Transport Services	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

ANNEXURE – I

INSTRUCTIONS TO BIDDERS

- 1.0 Bidders shall study carefully the complete tender documents viz. NIT with Prequalification criteria, Instructions to Bidders (ANNEXURE-I), Technical Procurement Specifications if any, Terms & Conditions and any other documents forming part of this tender attached herewith. All conditions set out there in shall be binding on the bidders unless conflicting with any conditions expressly stated by FACT while accepting any bid in the event of such acceptance. One signed and scanned copy of the above documents shall accompany their online bids signifying their acceptance of the same. Bidder shall also submit along with his bid Vendor data updation (Declaration) Form, Check list (If applicable) and Compliance Statement duly filled with all details required therein and also attach supporting documents as required.
- 2.0 Before submitting the bid, the bidder shall familiarise himself about the details of the work, operating conditions during different seasons of year, etc., collect all necessary data regarding the facilities available at various points indicated in Special Terms and Conditions, applicable timings, routes etc., and satisfy himself on all aspects relating to this work which he has to handle and execute for the full contract period and shall make due provisions in his rates for any contingency or difficulty involved in the work covered by this enquiry. Claiming lack of knowledge shall not be a reason for exoneration of the bidder of his contractual obligations, if the contract is awarded to him or for demand for increase in rate.
- 3.0 Offers against this NIT shall be submitted online on e-Tendering portal <u>https://eprocure.gov.in/eprocure/app</u>, with valid digital signature certificate. Offers submitted on any other platform or in any other mode or including e-mails, physical submission of offers etc. SHALL NOT be accepted.
- 3.1 The bidders are requested to register themselves on the above website with their valid digital signature certificate, if not done already. It is mandatory for bidder to have valid digital signature certificate (Class II or Class III) issued by any of the Certifying Authority approved by Govt. of India for participating in the tender. The digital signature certificate shall be arranged by the bidder at his cost. Bidders may refer **Bidders Manual Kit** available on the above website for detailed information and instructions for registration, bid submission etc.
- 3.2 The documents, if any, which necessarily have to be submitted in originals if specified specifically in the enquiry documents, shall be submitted offline. However scanned copies of such documents shall be uploaded along with the offer submitted online.
- 3.3 The cover (s) containing the documents in original etc. to be submitted offline as required in the enquiry documents shall be duly superscribed with enquiry No., due date of enquiry, bidder's name & address and contact details. The documents shall be submitted to the following on or before the due date :

The Asst. General Manager (Materials) C, Corporate Materials, PD Administrative Building, FACT Ltd., Udyogamandal PO, Kochi – 683 501, Kerala

PRPD. BY:		5
Transport Pervices	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT

- 4.0 SUBMISSION OF BIDS: The bid shall be uploaded with all relevant documents before due date and time in the above portal as given above.
- 5.0 Bid documents shall consist of Part-A and Part B as detailed below:
- 5.1 Part A (Pre-qualification-cum-Techno Commercial Bid) shall contain:
 - 1. Documentary proof for remittance of EMD such as scanned copy of EMD instrument (UTR No./Payment receipt challan) as applicable or Claim for EMD exemption with documentary proof.
 - 2. Scanned copies of supporting documents for satisfying Pre-Qualification criteria. Also pl. see 3.2 & 3.3 above.
 - 3. Digitally Signed copies of NIT, Instructions to Bidders (Annexure I) and terms conditions.
 - 4. Scanned copy of Signed & duly filled Vendor Data Updation Declaration Form'
 - 5. Signed and duly filled up Check List for Commercial Terms' (if applicable) and scanned copies of attached documents as detailed in Check list.
 - 6. Scanned copy of Signed & duly filled 'Compliance Statement'
 - 7. Scanned copy of Signed "Un-priced bid indicating "QUOTED" in the applicable columns. <u>Rates</u> <u>shall not be indicated in Un-priced Bid.</u>
 - 8. Scanned copy of Integrity Pact (only if specified in the NIT). Pl. see 3.2 & 3.3 above.
- 5.2 Part-B: shall comprise of the filled Price bid. The filled price bid ie. BoQ attached to the tender shall be uploaded after filling all relevant details such as name and address of the bidder, rates etc. as applicable.
- 5.3 The priced BOQ shall be uploaded strictly in the format attached, failing which the offer is liable to be rejected. Renaming or changing the format of the BoQ is not permitted and the System will not accept any such changed document.
- 5.4 Fill-in all the relevant fields of the BoQ either in value or as a percentage as specified in the BoQ. Blank field, if any, in the uploaded BoQ shall be considered as Nil (not Quoted). No claim or revisions shall be entertained in this regard.
- 5.5 Bidders shall quote prices in the BOQ only and nowhere else. No other documents shall be enclosed with Price Bid (BOQ).
- 5.6 Rates shall be quoted in the same unit of measure given in the BOQ and shall be considered accordingly.
- 5.7 Bidders shall ensure that all the required documents as per enquiry are uploaded in the System before due date and time. The System does not allow submission of bids or any other document forming part of the bid after due date & time of bid submission. Non-submission of documents or incomplete documents may result in rejection of offers and no communication in this regard will be entertained. FACT reserves the right to reject any bid not submitted as per instructions at their discretion.
- 5.8 Timely submission of offers along with all the relevant documents online is the responsibility of the bidder concerned. The bids may be submitted well in advance to avoid last minute issues like non availability of internet, server not available, power failure etc. FACT shall not be held responsible for bidder's inability to submit documents in time, incomplete submission of offers or non submission of any documents forming part of the offers etc.
- 5.9 Bidders shall meet all expenses in connection with submission of his bid, attending the bid opening, meetings etc.

PRPD. BY:			6
Transport	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

6.0 **BID OPENING:**

- 6.1 *Part-A* of the bids of all bidders who submit their Bids as per the instructions on or before the due date and time shall be opened online, on the specified bid opening date and time. Bids submitted not in conformity with the Enquiry instructions are liable to be rejected without further processing.
- 6.2 *Part-B* Price bids of those bidders whose Part-A bid is acceptable, based on pre-qualification and technocommercial evaluation, only shall be opened online on a subsequent date, on completion of evaluation.

7.0 EARNEST MONEY DEPOSIT:

- 7.1 Earnest Money Deposit (EMD) shall be furnished for the respective amount indicated in the NIT only through NEFT/RTGS to FACT a/c No. 57017844467 with the State Bank of India, Udyogamandal Branch, IFSC Code SBIN0070158. A scanned copy of the Payment Receipt /UTR No. shall also be furnished along with Part-A bid. Bids without EMD or inadequate amount of EMD will be rejected. No interest shall be paid on the EMD. EMD of the unsuccessful bidder will be refunded after awarding the contract. EMD furnished against one enquiry will not be adjusted against any other enquiry.
- 7.2 Bids without EMD shall be rejected except in the following cases: EMD will be exempted for Govt. Depts/firms, public sector units, Micro and Small Enterprises (MSE units) registered under MSMED Act (subject to Declaration of Udyam Registration Numbers by the vendors on CPP Portal and uploading the copy of latest valid Udyam Registration Certificate along with their bid)/ firms registered under NSIC/Khadi Board etc. as per applicable govt. directions, on submission of valid documents in proof of the same.
- 7.3 If any bidder retracts from or without request of FACT revises or amends his bid during its validity period or fails to submit Security Deposit within the stipulated time or fails to execute the required agreement when the contract is awarded or fails to commence the execution of the work on the stipulated date, the EMD furnished shall be liable to be forfeited without prejudice to FACT's other right to claim damages.

8.0 PURCHASE PREFERENCE:

This tender shall be based on MSME order dt. 23rd March 2012, and as amended from time to time, pertaining to Public Procurement Policy in respect of procurement of goods and services, produced and provided by micro and small enterprises (MSE), including special benefits to MSE firms owned by SC/ST and women entrepreneurs, on furnishing relevant documents as proof. Declaration of Udyam Registration Numbers on CPPP is mandatory, failing which bidders will not be able to enjoy the benefits as per PP policy. Bidders will get the benefit of PP policy only if they are MSE bidders at the time of submission of their bids, in proof of which latest valid Udyam Registration Certificate shall be uploaded. Bidders may note that failure to update the relevant information within the period specified in the online Udyam Registration portal will render the enterprise liable for suspension of its MSE status, in which case they will not be eligible to claim PP benefits/EMD exemption.

In divisible tenders, participating MSEs quoting price within price band of L1+15% shall also be allowed to supply a portion of requirement by bringing down their price to L1 price in a situation where L1 price is from someone other than an MSE. Such MSEs shall be allowed to supply atleast 25% (or as applicable) of the total tendered value. In case of more than one such MSE, the supply will be shared proportionately (to tendered

PRPD. BY:		7
Transport Services	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT

quantity). Special provisions extended to certain categories of MSEs as per the order shall also be applicable.

In case of non divisible tenders, an MSE quoting in the price band of L1+15% may be awarded for full/complete work of tendered value, considering the spirit of policy for enhancing the Government procurement from MSEs subject to bringing down of price to L1 by the MSE concerned.

This tender is non-divisible for each RH destination.

9.0 **DEVIATIONS:**

- 9.1 Deviations in the tender clauses shall not be accepted.
- 9.2 FACT reserves the right to reject the offers with deviations without further correspondence.
- 9.3 Bidder shall clearly indicate the time required for mobilisation /commencement of work from the date of receipt of Letter of Intent (LOI) / Work Order.

10.0 CONFORMITY:

Bids must conform in all respects with the applicable terms and conditions of this enquiry. Bidder must certify in the compliance Statement that his bid complies with all Enquiry documents and technical specifications.

11.0 Rates:

11.1 Bidder shall quote his lowest rate for the work strictly as per the BoQ (Price Bid format). Bids not complying with the above are liable to be rejected.

The Un-priced bid shall be submitted along with Part-A bid duly signed by the Bidder, indicating "QUOTED" in the columns. <u>Rates shall not be indicated in Un-priced Bid.</u>

- 11.2 Bidder shall quote all-inclusive rate for the work, but <u>exclusive of GST.</u> GST if applicable, will be payable extra by FACT as per statutory notification.
- 11.3 The rates quoted in the tender are to hold good for a period of four months from the date of opening of the Pre-Qualification-cum-Techno-Commercial bid (Part-A). If contract is awarded, the work order rates shall be valid for the entire period of contract inclusive of extension / extensions. No bidder can withdraw his tender or revoke or revise the rates within the aforesaid period of 120 days. If the bidder withdraws/revises/revokes OR shows unwillingness to confirm with his offer, the Earnest Money Deposit (EMD) remitted by the bidder against the tender shall be forfeited by FACT, without prejudice to FACT's other right to claim damages.

PRPD. BY:		8	8
Transport Services	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

12.0 SECURITY DEPOSIT:

- 12.1 The successful bidder (Contractor) shall be required to furnish an interest free Security Deposit (SD) equivalent to **five percent** (5%) of the total contract value by NEFT/RTGS or by Bank Guarantee issued by a Nationalised / Scheduled Bank as per the Proforma prescribed within 15 days of issue of the work order. The Bank Guarantee shall be valid till the expiry of the contract with a claim period of six months thereafter. FACT a/c No. 57017844467 with the State Bank of India, Udyogamandal Branch, IFSC Code SBIN0070158 shall be used in case of remittance of Security deposit by NEFT/RTGS and proof of remittance shall be submitted to FACT.
- 12.2 In case the bidder whose bid is accepted, fails to deposit the prescribed Security Deposit or fails to execute the agreement or fails to commence the execution of the work within the specified time, the contract issued to him is liable to be terminated and the Earnest Money already deposited by the contractor shall be forfeited without any further reference to the contractor and alternative arrangements made at the risk and cost of the Contractor.

13.0 PURCHASER'S RIGHT:

FACT reserves the right to reject any or all bids without assigning any reason whatsoever. No claims shall lie against FACT on this account and FACT's decision in this regard shall be final and binding on the bidders. FACT reserves the right to negotiate with the lowest bidder.

14.0 CONTRACTOR TO EXECUTE AGREEMENT:

The contractor's responsibility under this contract will commence on the date specified in the Letter of Intent/Work Order. The successful Bidder shall be required to execute an Agreement with FACT, within 15 days of the receipt by him of the Work order issued by FACT for carrying out the work according to the terms and conditions of the contract given along with the Work Order. The Agreement shall be executed on Rs.200/- Stamp paper and shall be in the pro forma as specified by FACT. The provisions contained in tender papers and other documents exchanged between the Bidder and FACT shall form part of the contract. The Earnest Money Deposit is liable to be forfeited in case the contractor fails to execute the agreement within the stipulated period as mentioned above.

15.0 The bidder shall furnish the following along with the offers.

- 1. The GST registration Number and details. In the case of Provisional ID, GST Registration Number shall be provided on receipt of the same.
- 2. Place of supply/Service
- 3. Address of the supplier/service provider's billing the item if it is different from 2 above
- 4. GST rates applicable for each item
- 5. HSN / SAC codes of each of the goods / services quoted

In case of unregistered contractor, a declaration to that effect with reason should be furnished.

PRPD. BY:			9
Transport	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

FACT's GST No. in the state of Kerala is **32AAACT6204C1Z2**. FACT's GST numbers in other southern states is as follows:

Tamilnadu:	33AAACT6204C1Z0
Karnataka:	29AAACT6204C1ZP
Andhra Pradesh:	37AAACT6204C1ZS
Telangana:	36AAACT6204C1ZU
Puducherry:	34AAACT6204C1ZY

The supplier/contractor shall do the following:

- a) Submit GST compliant tax invoice to FACT along with supply.
- b) Shall ensure uploading the above invoice as per statute &
- c) File monthly returns in time enabling FACT to claim the input tax credit.

GST charged by the supplier/contractor shall be released separately to the supplier/contractor only after filing of (i) the outward supply details & the monthly return on GSTN portal by the supplier/contractor and (ii) on matching the input tax credit to such invoice with the corresponding details of outward supply of the supplier/contractor.

In case FACT incurs any liability (like interest, penalty etc.,) due to denial/reversal of such input tax credit in respect of the invoice submitted by the supplier/contractor, for the reasons attributable to the supplier/contractor, the same shall be recovered from the supplier/contractor

Further in case FACT is deprived of the input tax credit due to any reason attributable to the supplier/contractor, the same shall not be paid or recovered if already paid to the supplier/contractor.

16.0 TRADE RECEIVABLE DISCOUNTING SYSTEM (TReDS)

Government of India has implemented Trade Receivable Discounting System (TReDS) to address challenges faced by MSMEs in delayed payments from Government buyers. TReDS is an online electronic institutional mechanism for facilitating the financing of trade receivables of MSMEs through multiple financiers. FACT is registered on the TReDS platform by Receivable Exchange of India Limited (RXIL), Mumbai. The MSME vendors can avail the TReDS facility, if they want to.

17.0 **GENERAL:**

- 17.1 FACT reserves the right to extend without giving any reason, the last date for submission and opening of bid, but such extension will be duly intimated to those who have submitted online. In case the date of bid opening happens to be a day of strike/hartal etc. due to any reasons or happens to be a holiday for FACT, declared due to unforeseen and emergency reasons or due to any tech problems, the bids will be opened at the same time on the next full working day.
- 17.2 FACT reserves the right to make changes in the tender documents, but such changes will be published in our portal as a corrigendum. Bidders are requested to counter check with portal before submitting their bids.

PRPD. BY:			10
Transport	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

- 17.3 Mere submission of all the documents will not necessarily mean that the Bidder is suitable. Worthiness assessed by FACT will be final and binding on the Bidder.
- 17.4 FACT may relax condition of prior turnover and prior experience (if specified in the Pre Qualification criteria) with respect to Micro & Small Enterprises (MSEs) subject to meeting of quality and technical specifications.
- 17.5 Except in the cases of items/services related to public safety, health, critical security operations and equipment etc., FACT at its discretion may relax the conditions of prior turnover and prior experience (if specified in the Pre Qualification criteria) for Startups recognised by Dept. of Industrial policy and promotion (DIPP) subject to meeting quality and technical specifications, on furnishing copies of relevant certificates / documents in proof of such recognition by DIPP.
- 17.6 All clarification and correspondence related to this enquiry shall be made only in English to the Asst.General Manager(Materials)-C, Corporate Materials, PD Administrative Building, FACT Ltd., Udyogamandal 683 501, Tel : 0484-2568123/2568273; Email:jayakumarp@factltd.com.
- 17.7 All disputes and questions, claims, rights, matters or things, whatsoever, in any way, arising out of or relating to the calling of bids, evaluation of offers, award of contract, change in structure of bids or any other matter relating to finalization of contract are to be referred to the sole Arbitrator who shall be the General Manager [Materials] of FACT. The award shall be binding on both the parties. The bidders are advised to get informed of all details they require regarding the work before submitting their bids.
- 17.8 Work order shall be issued by Asst. General Manager(Materials)-C.

18.0 TENDER UPDATES:

Bidders are requested to visit Central Public Procurement Portal (<u>https://eprocure.gov.in</u>) regularly for any updates/corrigendum on the tender, including extension of due date, if any. No other mode of communication shall be made in this regard.

19.0 FRAUD PREVENSION POLICY:

Bidders shall comply with Fraud Prevention Policy of FACT 2012 (FPPF 2012). The said Policy is available in FACT's Website <u>www.fact.co.in</u>.

ASST. GENERAL	MANAGER	(MATERIALS)-C
---------------	----------------	---------------

PRPD. BY:			11
Transport Services	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

<u>ANNEXURE - II</u>

SCOPE OF WORK & QUANTITY

CLEARING, HANDLING AND TRANSPORTATION OF BAGGED PRODUCTS AT RAIL HEADS IN ANDHRA PRADESH & TELANGANA

The estimated quantity (Transportation rates for FOL basis only), scope of work (detailed in terms and conditions) and the requisite amount of EMD for each RH are given table 1 below:

TABLE 1

					~																		
SI. No.	Items of work	Unit (UoM)	Vijayawada	Guntur	Thadepalligudem	Ananthapur	Adoni	Mandapeta	Kadappa	Nandyal	Renigunta	Ongole	Thimmapur	Gajwel	Jadcherla	Gadwal	Kamareddy	Nizamabad	Mancherial	Mirayalguda	Warangal	Khammam	Karimnagar
1	Clearing/Handlin g - Item No. 8.1.1 of scope of work of Annexure-VI.	MT	70,000	30,000	90,000	40,000	80,000	54,000	29,000	50,000	20,000	85,000	30,000	20,000	20,000	75,000	30,000	20,000	20,000	25,000	84,000	1,20,000	55,000
2	Transportation from Rail Heads to Godown/stock points/Dealer points within a distance not exceeding 15km Item No. 8.1.2 of scope of work of Annexure-VI.	MT	38,000	3,000	48,000	22,000	47,000	35,000	22,000	21,000	8,000	30,000	18,000	14,000	14,000	45,000	16,000	14,000	10,000	8,000	38,000	80,000	27,000
3	Transportation from Rail Heads to Godown/stock points/Dealer points within a Radius of 1 to 15km (Applicable to places within a radius of 11 to 15 KMs – Item No. 8.1.3 of scope of work of Annexure- VI	MTK	0	0	0	0	0	0	0	0	0	0	25,000	0	0	0	0	0	0	0	0	0	0
4	Transportation from Rail Heads to Godown/stock points/Dealer points within a distance of above 15km & not exceeding 25km - Item No. 8.1.4 of scope of work of Annexure- VI	×	25,000	25,000	30,000	12,000	60,000	3,000	8,000	20,000	12,000	50,000	0	40,000	0	0	0	0	1,00,000	60,000	4,10,000	50,000	50,000
PRPD													FMI	CAL	s			270	CT		1	2	
Tra	insport Pervi	ces				-			-	-							a L	AU					

Clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana

ENQUIRY No.MM/180/E28527 Dated.18.11.2023

5	Transportation from Rail Heads to Godown/stock points/Dealer points within a distance of above 25km & not exceeding 50km – Item No. 8.1.5 of scope of work of Annexure- VI	MTK	5,50,000	40,000	3,50,000	27,000	2,50,000	2,50,000	33,000	2,00,000	32,500	2,00,000	38,000	32,400	38,000	76,000	38,000	38,000	1,50,000	35,000	1,50,000	1,50,000	1,50,000
6	do – within a distance of above 50 km & not exceeding 100 km- Item No. 8.1.6 of scope of work of Annexure- VI.	MTK	2,00,000	3,00,000	6,00,000	2,76,000	2,00,000	2,20,000	54,000	2,00,000	32,500	2,00,000	1,52,000	1,52,000	3,04,000	1,14,000	2,28,000	76,000	5,00,000	4,00,000	12,50,000	18,00,000	5,00,000
7	do – within a distance of above 100 km & not exceeding 150 km – Item No. 8.1.7 of scope of work of Annexure-VI.	MTK	1,75,000	2,50,000	3,90,000	4,50,000	2,25,000	1,60,000	1,50,000	62,500	62,500	2,25,000	2,52,000	1,26,000	2,52,000	1,26,000	1,25,500	1,26,000	5,00,000	2,00,000	5,00,000	6,00,000	6,00,000
8	do – within a distance of above 150 km & not exceeding 200 km – Item No. 8.1.8 of scope of work of Annexure-VI.	MTK	2,50,000	1,50,000		1,05,000	3,00,000	1,80,000	1,05,000	87,500	87,500	1,75,000	1,76,000		0	63,000	1,75,500	1,76,000	1,50,000	75,000	1,50,000	1,50,000	1,50,000
9	Loading of bagged products at ASC / Warehouse- Item No. 8.1.10 of scope of work of Annexure-VI.	MTK	25,000	8,000	0	24,000 1	40,000	36,000	21,000	12,000	10,000	25,000 1	21,000	14,000	14,000	45,000	16,000	14,000	17,000	14,000	67,000	90,000	45,000
10	Unloading of bagged products at ASC / Warehouse-Item No.8.1.11 of scope of work of Annexure-VI	MTK	25,000	8,000	0	24,000	40,000	36,000	21,000	12,000	10,000	25,000	21,000	14,000	14,000	45,000	16,000	14,000	17,000	14,000	67,000	90,000	45,000
11	Rebaggiing/stan dardisationatAS C/Warehouse – Item No.8.1.12 of scope of work of Annexure VI.	MTK	6,000	1,000		2,400	2,000	2,000	1,200	1,000	1,000	2,000	1,000	500	1,000	2,000	1,000	1,000	1,000	1,500	5,000	5,000	3,000
12	Stenciling on Bags at ASC/Warehouse – Item No.8.1.13 of scope of work of Annexure-VI	MTK	6,000	3,000		3,600	3,000	5,000	2,400	2,000	2,000	3,000	1,000	1,000	1,000	4,000	1,000	1,000	3,000	3,000	5,000	5,000	5,000
PRPD). BY:																				1	3	
	ansport Servi	ces				F						CH IMIT		CAL	S			E A(CT				

The quantities under transportation slabs in the above table are for transportation on FOL basis. Estimated quantities for transportation to various SPD/SWC/ASC from each railhead are shown in table 2 below:

<u>TABLE 2</u>

RH	SI No.	SPD / ASC / SWC/ Storage point/ coming under RH	Distance from RH (Km)	Quantity	UoM
	1	AWZ Guntur Takellapadu	35	50,000	MTK
	2	AWZ Budampadu (Guntur)	35	50,000	MTK
	3	APSWC Gudivada	50	1,00,000	MTK
VIJAYAWADA-KCC RH	4	Awaze LTD Narsaraopeta	100	50,000	MTK
	5	APSWC Piduguralla	100	60,000	MTK
	6	Sri Vijayaram Transport TP Gudem	145	80,000	MTK
	1	Awaze Ltd Takellapadu (Guntur)	15	75,000	MTK
	2	Awaze Ltd Budampadu (Guntur)	15	75,000	MTK
	3	APSWC Tadepalli	30	30,000	MTK
	4	Awaze Ltd Narsaraopeta	75	2,00,000	MTK
GUNTUR-	5	APSWC Piduguralla	72	1,00,000	MTK
REDDIPALEM RH	6	APSWC Gudivada	90	50,000	MTK
	7	ASC Ongole	130	80,000	MTK
	8	Awaze Ltd Ongole	132	50,000	MTK
	9	Sri Vijayaram Transport TP Gudem	160	1,00,000	MTK
	1	Sri Venkateswara Godowns Ethakota	43	1,50,000	MTK
	2	Teja Warehousing Mandapeta	75	2,00,000	MTK
	3	APSWC Gudiyada	98	80,000	MTK
	4	Sowmya Logistics Kakinada	124 127	1,20,000 80,000	MTK MTK MTK
FADEPALLIGUDEM RH	5	APSWC Tadepalli			
	6	Avaze Ltd Takellapadu (Guntur)	165	1,00,000	MTK
	7	Awaze Ltd Budampadu (Guntur)	165	1,00,000	MTK
	1	Awaze Adoni	103	3,00,000	MTK
	2	Awaze Kurnool	150	3,00,000	MTK
ANANTHAPUR RH	3				
		Awaze Cudapa	190	3,00,000	MTK
	4	Awaze Nandyal	200	3,00,000	MTK
	1	Awaze Kurnool	102	3,00,000	MTK
ADONI RH	2	Awaze Anantapur	150	2,50,000	MTK
	3	NRK Nandyal	190	3,00,000	MTK
	1	Sri Venkateswara Godowns Ethakota	39	1,20,000	MTK
MANDAPETA-	2	Sowmya Logistics Kakinada	56	1,20,000	MTK
DWARAPUDI RH	3	Sri Vijayaram Transport TP Gudem	75	50,000	MTK
	4	APSWC Gudivada	174	80,000	MTK
	1	Awaze Nandyal	135	2,00,000	MTK
	2	Awaze Renigunta	140	2,00,000	MTK
VADADDA DU	3	Awaze Anantapur	190	2,00,000	MTK
KADAPPA RH	4	SWC Chittoor	190	2,00,000	MTK
	5	Awaze Nellore	190	2,00,000	MTK
	6	SWC Nellore	190	2,00,000	MTK
PRPD. BY:					14
γ 5.		FERTILISERS AND CHEMICAL	S FA	ACT	
ransport ************************************		TRAVANCORE LIMITED			

Clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana

ENQUIRY No.MM/180/E28527 Dated.18.11.2023

ransport Services		FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT			
PD. BY:					15	
	3	Awaze Mancherial	90	6,00,000	MTK	
KARIMNAGAR RH	2	Awaze Jagtial	60	1,50,000	MTK	
	1	Awaze Peddapalli	40	2,00,000	MTK	
	2	Awaze Miriyalguda	90	1,00,000	MTK	
KHAMMAM RH	1	Awaze Suryapet	62	1,80,000	MTK	
MIRIYALGUDA RH	1	Awaze Suryapet	60	3,50,000	MTK	
	3	Awaze Karimnagar	85	2,00,000	MTK	
MANCHERIAL RH	2	Awaze Jagtial	74	1,50,000	MTK	
	1	Awaze Peddapalli	50	1,00,000	MTK	
	3	Awaze Adilabad	150	4,50,000	MTK	
NIZAMABAD RH	2	Awaze Nirmal	70	1,40,000	MTK	
	1	Awaze Kamareddy	65	1,30,000	MTK	
	5	Awaze Adilabad	188	3,76,000	MTK	
KAMAREDDY RH	4	Awaze Nirmal	105	2,10,000	MTK	
KAMAREDDY RH	3	Awae Nizamabad	65	1,30,000	MTK	
	2	Awaze Gajwel	78	2,34,000	MTK	
	1	Awaze Medak	55	55,000	MTK	
GADWAL RH	1	Awaze Jadcherla	100	1,00,000	MTK	
JADCHERLA RH	1	DP World-Thimapur	50	1,00,000	MTK	
RH	3	Awae Nizamabad	135	67,500	MTK	
GAJWEL – SIDDIPET	2	Awaze Medak	72	76,000	MTK	
	1	Awaze Kamareddy	76	1,52,000	MTK	
	3	Awaze Gajwel	125	2,50,000	MTK	
RANGAREDDY RH	2	Awaze Jadcherla	55	55,000	MTK	
THIMAPUR-	1	Awaze Moosapet	46	46,000	MTK	
	7	Awaze Yerrabalem Guntur	150	2,00,000	MTK	
	6	SWC Thadepalli Guntur	150	2,00,000	MTK	
	5	Awaze Guntur	130	2,00,000	MTK	
ONGOLE RH	4	SWC Nellore	140	2,00,000	MTK	
	3	Awaze Nellore	140	2,00,000	MTK	
	2	Awaze Narsaraopet	100	2,00,000	МТК	
	1	Awaze Chirala	60	1,00,000	MTK	
	4	Awaze Cudappa	140	2,50,000	MTK	
RENIGUNTA RH	3	SWC Nellore	150	2,50,000	MTK	
	2	Awaze Nellore	150	2,50,000	MTK	
	1	SWC Chittoor	80	2,75,000	MTK	
	4	Awaze Auoni Awaze Anantapur	190	3,00,000	MTK	
NANDYAL RH	23	Awaze Cudappa Awaze Adoni	135 190	3,00,000 3,00,000	MTK MTK	
	1	Awaze Kurnool	85	3,00,000	MTK	

<u>ANNEXURE – III</u>

PRE-QUALIFICATION CRITERIA FOR BIDDERS

Only those bidders who meet the following 'Pre-Qualification' (PQ) criteria shall be qualified for further evaluation of their bids against this enquiry.

- 1. Bidder must have experience in clearing and handling of at least **1200 MT or above** from any RH (in single consignment) of bagged materials like fertilizers/ sugar/ cement/ food grains during any of the last five years as on the date of enquiry, for any Government/ Quasi Government Departments/ Public sector under takings/ Private limited companies/ Public limited companies.
- 2. Bidder must also have transported not less than **1200 MT** of bagged materials as above by road for any single organization as above, during any of the last five years as on the date of enquiry.

As a proof of satisfying the above criteria 1 & 2 bidder must enclose copies of i)Work order supported by corresponding ii) Experience certificate and iii) Performance certificate from organization served, with Part A bid as documentary evidence. In case of running contracts, Performance certificate submitted should have been issued after the date of enquiry.

3. Bidder shall furnish a Solvency Certificate (original or copy duly attested by a Notary) for Rs.10.0 Lakh for each RH from a Nationalised/ Scheduled Bank along with Part-A Bid (Techno commercial Bid). The Solvency certificate issued shall be dated after three months prior to the date of enquiry.

Note for Micro & Small Enterprises and Startups: Prequalification criteria specified above shall also be applicable for Micro & Small Enterprises and Startups without any relaxation.

The bidder shall submit the following documents in proof of above, along with Part A of the bid

- a) Scanned copies of work orders, experience certificate & performance certificate relevant to that particular work order from the clients indicated at criterion 1 & 2 above.
- b) Scanned copy of Solvency certificate (original or copy duly attested by a Notary) for a minimum of Rs.10.0 Lakh for each RH from a Nationalised/Scheduled Bank issued dated after three months prior to the date of enquiry in proof of criterion 3 above. Original/copy duly attested by a Notary to be furnished offline.

Note: For bidders quoting for more than one RH, a **single consolidated Solvency certificate from a single bank, shall be furnished.**

The offers of such bidders who meet the above PQ criteria shall only be considered for technical evaluation and opening of price bids. Offers received without supporting documents or with incomplete form/documents are liable to be rejected. FACT reserves the right to verify the claim of the bidders/documents submitted by them, directly with the clients or any other agency in this regard.

PRPD. BY:			16
Transport Pervices	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

ANNEXURE-IV

VENDOR DATA UPDATION FORM (PLEASE USE ADDITIONAL SHEETS, IF SPACE IS INSUFFICIENT)

FACT reserves the right to verify the information given as per the format and enclosures. It is the responsibility of the bidder to give the full details asked for as per this format for evaluating his bid as per this Enquiry. Any misrepresentation of facts and withholding of information may result in disqualification

SI. No.	Description	To be filled in by Vendor
1	Name of the bidder	
2	Address and designation of the Bidder	
3	Telephone Nos. (with Country/STD codes)	
4	Tele fax Nos.	
5	E-Mail id	
6	Constitution of the firm: (Strike out which is not applicable	Proprietorship / Regd. Partnership/ Limited Company
7.	Year of Establishment	
8.	Nam, Address ,Telephone Nos. of Proprietor/Partner/Directors	
a.	Name	
b.	Address	
с.	Phone No.	Office: Residence:
d.	Mobile No.	
e.	Fax No.	
f.	Email id.	
PRPD.	BY:	17
Trar	sport ervices FERTILISERS	AND CHEMICALS RE LIMITED

CO	FACT RPORATE ATERIALS	(fertiliz	ers, gypsu	m or other r	rtation of bagged naterials) at vario radesh & Telanga	us Rail	ENQUIRY No.MM/180/E28527 Dated.18.11.2023
9	Name and signatory	Address of	the autho	rised			
10.	CATEGOR	Y:					
a	the followin NOTE: In enclose U bidders sl UDYAM N which suc	ne entrepren ng status (p case of Mi DYAM cert hall registe umber on ch bidders efits as pe ler, 2012.	ilease tick cro/Sma ificate. A er / decla CPP Port will not l). II pl. AII MSE are their al failing pe able to	Micro/Small/Med	ium	
b		e bidder is a e/she belon		eneur ST category			
Сорі	ies of the f	ollowing d	ocument	s (Sl.No.11	to 17) shall be a	attached a	llong with Part A bid.
11	Document No.	showing Pr	ovident Fu	und code			
12	PAN CARE	No.					
13.	GST Regis	tration Cert	ificate				
14.	& Loss A/c	dited Balan (for prece 0-21, 2021	ding 3 fina	ancial			
15		on Letter/D and signatu					
16.	Copy of ce with ESI	ertificate for	having re	egistration			
17.	Power of a signatory	ttorney in fa	avour of A	uthorised			
18	Mobilizatio	n Period					
19.	Please furn	ish the follo	wing deta	ails along wi	th your Banker's A	uthorisatio	n letter:
a)	Income Ta	x PAN No.					
b)	GST Regist	ration No.					
RPD.	BY:						18
∕_ Trar	nsport Serv	ices			AND CHEMICALS		FACT

	FACT RPORATE ATERIALS	(fertilizer	andling and transpo rs, gypsum or other s (RH) in Andhra P	materials) at	various Rail	ENQUIRY No.MM/180/E28527 Dated.18.11.2023
c)	Name of th address	e Bank with				
d)	Name of th address	e Branch wit	h			
e)	MICR Code	2				
f)	IFSC Code					
g)	Account Ty	pe				
h)	Bank Accou	unt No.				
i)	Account ho	older's Name				
j)	Vendor em	ail address				
20	any other l		 pany is blacklisted b /Govt./Quasi Govt. client	y FACT or	Yes/No	
21	Whether yo contract pe FACT or an	our contract veriod or secur	vas terminated befo ity deposit/EMD for c Sector/Govt./Quas	feited by	Yes/No	
22			ner/Director(as app judicial court for ar		Yes/No	
23	,		er of FACT attached for which bid is sub		Yes/No	
24	Declaration	n on Proprieto	or/Partners/Directors	S		
	Full Name	of the Proprie	etor/Partner/Directo		he other firm(s /partner/Direct	s) of which bidder is a cor
a						
b						
c d						
u e						
)	mentioned applicable/ case of co	at SI.No.(s with any oth ommon Prop	s) above is/are co er firm/company w	ommon/not ho has appli tor in other	common(Strike ed for against	r of this firm/company e off whichever is not same advertisement. In is applied against same
PRPD.	RV:					19
ι κέν.	<u>л</u> .					17
] rar	nsport Serv	vices	FERTILISERS TRAVANCO	AND CHEMI RE LIMITED	CALS	FACT

FACT CORPORATE MATERIALS	(fertilizers, gy	ling and transportatio psum or other materi 1) in Andhra Prades	ials) at various F		ENQUIRY No.MM/180/E28527 Dated.18.11.2023
25. Whether	paid EMD /Exer	npted:			
Details of EMD:					
For NEFT / RTGS	<u>UTR No.</u>	<u>Date</u>	<u>Payment</u>	<u>: Receip</u>	<u>ot / Challan(in original)</u>
		DECLARAT	<u>10N</u>		
best of my/our k untrue/incorrect,	nowledge and be I /We have no	elief. In the event of	any information disqualifying m	given	e true and correct to the by me/us is found to be gainst this enquiry and
		Authorised Si	gnatory,		
Date:		Name	:		
Place:		Designation			
			:		
		(Seal)	•		
PRPD. BY:	T				20
ransport Perv	ices	FERTILISERS AND TRAVANCORE LI			FACT

FACT CORPORATE MATERIALS	Clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana	ENQUIRY No.MM/180/E28527 Dated.18.11.2023
		<u>ANNEXURE – V</u>
	COMPLIANCE STATEMENT	
documents issue and understood t	inquiry No. MM/180/E28527 dated 18.11.2023 is in full d against the Enquiry No: MM/180/E28527 dated 18.11.20 he Notice Inviting Tender, Scope of Work, Instructions to E tract attached with this enquiry referred above and hereby o	023 and we have read Bidders and Terms and
Name of bidder:		
Signature of the I	3idder:	
Place:		
Date:	(Seal)	
PRPD. BY:		21

ANNEXURE- VI

TERMS AND CONDITIONS OF CONTRACT CLEARING, HANDLING & TRANSPORTATION OF BAGGED PRODUCTS AT VARIOUS RHs IN ANDHRA PRADESH & TELANGANA

1.0 **DEFINITIONS**

- **1(a)** FACT shall mean THE FERTILISERS AND CHEMICALS TRAVANCORE LIMITED with Registered office at Udyogamandal, Kochi-683501, its operating Divisions at Udyogamandal (FACT-UD) and at Ambalamedu (FACT-CD) and Marketing offices spread across South India (which expression shall repugnant to the context or meaning thereof, include its successors and assigns).
- **1(b)** "Contractor" shall mean the individual / firm / company, who has been awarded the Work Order (contract) against his/their bid in response to the enquiry issued by FACT and shall include his/their legal representatives heirs, successors and assigns.

2.0 PERIOD OF CONTRACT

The period of Contract shall be for **two years** from the date of issue of Letter of Intent (LOI)/ Work order, whichever is earlier.

3.0 AGREEMENT

Contractor to Execute Agreement: The contractor shall execute an Agreement with FACT, within 15 days of receipt of the Work Order. The Agreement shall be executed on stamp paper (of appropriate value) as per the proforma as specified by FACT.

4.0 SECURITY DEPOSIT

- **4.1** The contractor shall furnish an interest free Security Deposit (SD) equivalent to 5% (five percent) of the total initial Work Order value as given in the Work Order (irrespective of actual quantity of work executed during the contract period), by RTGS or by Bank Guarantee issued by a Nationalised / Scheduled Bank as per the Proforma prescribed by FACT within 15 days of receipt of the work order.
- **4.2** In case the contractor fails to deposit the prescribed Security Deposit or fails to execute the agreement or fails to commence the work within the specified time, the contract issued to him is liable to be terminated and the Earnest Money Deposit (EMD) shall be forfeited and alternative arrangements made at the risk and cost of the contractor. The contractor will also be liable for getting delisted from FACT and will not be eligible to participate in future tender(s) as per FACT's policy in vogue.
- **4.3** The SD shall remain at the disposal of FACT, as a security for the satisfactory execution and completion of the work in accordance with the terms and conditions of the contract. The SD shall not be released until the work as per the Contract is satisfactorily completed and accepted and final bills paid. In case the contractor fails to make good any amount due from him inter-alia, losses, damages, penalties, dues etc. as may be payable by the contractor, FACT shall be at liberty to deduct/ appropriate such payments from the security deposit without prejudice to FACT's right to claim balance amount from the contractor. Violation(s) of any of the terms and conditions of Contract by the contractor shall entail (i) forfeiture of the SD and (ii) disqualification from further work with FACT without prejudice to FACT's right to avail other remedies.

PRPD. BY:			22
Transport Pervices	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

Clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana

5.0 FIRMNESS OF RATES

- **5.1** <u>The rates shall be firm throughout the contract period.</u> No charge/claim on any account, incidental or otherwise, other than expressly provided in the contract, shall be payable by FACT.
- **5.2 Rate Revision Clause**: Whenever the retail price of HSD is revised by oil marketing companies in Public Sector vis-a-vis the base rates given in the contract, the transportation rates shall be revised based on simple average of the diesel price variation for the full month or part thereof. The HSD price prevailing at the respective RH location on the date of bid opening (Prequalification cum Techno-Commercial Part (Part-A), shall be the base rate for the above purpose. For an increase or decrease of one Rupee per litre for HSD applicable at the place of RH, the transportation rates shall be increased or decreased by 1.75 Paise per MT per km. The above revision shall be calculated (i) on pro rata basis for the actual increase / decrease of HSD price and (ii) for one way (single) distance only. For e.g. for an increase or decrease of Rupee ' Δ ' per litre in the price of HSD, the transportation rate shall be increased or decreased or decreased by Paise (1.75 x Δ) per MT per km). Distance (km) of each destination from the RH shall be taken for calculating the revised rate for the respective destination.

6.0 QUANTUM OF WORK:

The quantum of work depends up on various factors like agro-climatic conditions, market requirement, supply plan issued by Government, production at FACT's plants / arrival of shipments, availability of rake etc. and the quantum indicated in the W.O. is only indicative. FACT reserves the right to reduce or increase the quantum of work at any time without assigning any reason whatsoever and the contractor shall carry out the work as per actual quantity requirements of FACT at the same rates and terms & conditions as per the W.O. The contractor has no right to claim loss / loss of profit on account of reduction in revenue arising out of variation in quantum of work.

7.0 Goods and Service Tax (GST)

Rates given in the Work Order are exclusive of Goods and Service Tax (GST) and the contractor or FACT, as the case may be, shall remit GST in compliance with the statute. In case GST has to be paid by the contractor as per relevant Rules & Regulations the same shall be reimbursed to the contractor against documentary proof.

The bidder shall furnish the following along with the offers.

- 1. The GST registration Number and details. In the case of Provisional ID, GST Registration Number shall be provided on receipt of the same.
- 2. Place of supply/Service
- 3. Address of the supplier / service provider's billing the item if it is different from 2 above
- 4. GST rates applicable for each item
- 5. HSN / SAC codes of each of the goods / services quoted

In case of unregistered contractor, a declaration to that effect with reason should be furnished.

FACT's Provisional ID in the state of Andhra Pradesh is 37AAACT6204C1ZS FACT's Provisional ID in the state of Telangana is 36AAACT6204C1ZU FACT's Provisional ID in the state of Kerala is 32AAACT6204C1Z2.

PRPD. BY:			23
Transport Pervices	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

The supplier/contractor shall do the following:

- a) Submit GST compliant tax invoice to FACT along with supply.
- b) Shall ensure uploading the above invoice as per statute &
- c) File monthly returns in time enabling FACT to claim the input tax credit.

GST charged by the supplier/contractor shall be released separately to the supplier/contractor only after filing of (i) the outward supply details & the monthly return on GSTN portal by the supplier/contractor and (ii) on matching the input tax credit to such invoice with the corresponding details of outward supply of the supplier/contractor.

In case FACT incurs any liability (like interest, penalty etc.,) due to denial/reversal of such input tax credit in respect of the invoice submitted by the supplier/contractor, for the reasons attributable to the supplier/contractor, the same shall be recovered from the supplier/contractor

Further in case FACT is deprived of the input tax credit due to any reason attributable to the supplier/contractor, the same shall not be paid or recovered if already paid to the supplier/contractor.

8.0 SCOPE OF WORK

8.1.1 Clearing of bagged products (such as fertilizers, gypsum, or any other materials) from railway wagons at the Rail Head (RH), **unloading on to railway platform (if necessary), and loading on to trucks/lorries** placed by the contractor/dealers of FACT for onward movement to required destinations. FACT has made all arrangements for ensuring correct quantity of products loaded into railway wagons and trucks/lorries in our premises as well as from various Port godowns. The contractor is free to engage his representative at the loading points at (i) Kalamassery Railway Siding, Kochi, (ii) FACT Cochin Division, Ambalamedu, Kochi, and (iii) seaports like Tuticorin, Kochi etc., if he so wishes, to witness rake loading so as to satisfy himself with the system followed. The contractor shall clear, handle and deliver at RH the full quantity as per RR without any shortage. Cost of shortages, if any, found between the RR quantity and delivered quantity at the RH will be recovered from the dues/bills of the contractor, if the seals of the wagons are intact, at 150% of the value (MRP plus Govt. Subsidy) of product as applicable. If the seals of the wagons are broken / tampered with, the matter may be reported to FACT and clearing of such wagons shall be done only with the permission and under supervision of FACT.

Transportation on FOL basis:

- **8.1.2 Transportation** of bagged products in trucks / lorries placed by the contractor from RH to godown / Stock points/ dealer's points situated within a distance not exceeding 15 km from the RH as given in the contract.
- **8.1.3 Transportation** of bagged products by road in trucks / lorries placed by the contractor from RH to godown / Stock points/ dealer's points situated within a Radius of 1 to 15 KMs Slab (Applicable to places within a radius of 11 to 15 KMs) as given in the contract.
- **8.1.4 Transportation** of bagged products in trucks/lorries placed by the contractor from RH to godowns / stock points / dealer's points <u>situated within a distance of above 15 km & not exceeding 25 km.</u>

PRPD. BY:			24
Transport	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

ENQUIRY FACT Clearing, handling and transportation of bagged products No.MM/180/E28527 CORPORATE (fertilizers, gypsum or other materials) at various Rail Dated.18.11.2023 MATERIALS Heads (RH) in Andhra Pradesh & Telangana 8.1.5 Transportation of bagged products in trucks/lorries placed by the contractor from RH to godowns / stock points / dealer's points situated within a distance of above 25 km & not exceeding 50 km. 8.1.6 -- do -- but within a distance of above 50 km & not exceeding 100 km from the RH 8.1.7 -- do -- but within a distance of above 100 km & not exceeding 150 km from the RH 8.1.8 -- do - but within a distance of above 150 km & not exceeding 200 km from the RH 8.1.9 <u>Transportation on non-FOL basis</u> RH SPD / ASC / SWC/ Storage point/ coming under RH VIJAYAWADA-KCC RH AWZ Guntur Takellapadu AWZ Budampadu (Guntur) APSWC Gudivada Awaze LTD Narsaraopeta APSWC Piduguralla Sri Vijayaram Transport TP Gudem GUNTUR-REDDIPALEM RH Awaze Ltd Takellapadu (Guntur) Awaze Ltd Budampadu (Guntur) **APSWC** Tadepalli Awaze Ltd Narsaraopeta APSWC Piduguralla APSWC Gudivada ASC Ongole Awaze Ltd Ongole Sri Vijayaram Transport TP Gudem TADEPALLIGUDEM RH Sri Venkateswara Godowns Ethakota Teja Warehousing Mandapeta APSWC Gudivada Sowmya Logistics Kakinada **APSWC** Tadepalli Awaze Ltd Takellapadu (Guntur) Awaze Ltd Budampadu (Guntur) ANANTHAPUR RH Awaze Adoni Awaze Kurnool Awaze Cudapa Awaze Nandyal ADONI RH Awaze Kurnool Awaze Anantapur NRK Nandyal MANDAPETA-DWARAPUDI RH Sri Venkateswara Godowns Ethakota Sowmya Logistics Kakinada Sri Vijayaram Transport TP Gudem APSWC Gudivada PRPD. BY: 25 A FACT FERTILISERS AND CHEMICALS ransport **** ervices **TRAVANCORE LIMITED**

CORPORATE (fertilizer		andling and transportation of bagged products s, gypsum or other materials) at various Rail s (RH) in Andhra Pradesh & Telangana	ENQUIRY No.MM/180/E28527 Dated.18.11.2023	
KADAPPA RH		Awaza Nandval		
		Awaze Nandyal Awaze Renigunta		
		Awaze Anantapur		
		SWC Chittoor		
		Awaze Nellore		
		SWC Nellore		
NANDYAL RH		Awaze Kurnool		
		Awaze Cudappa		
		Awaze Adoni		
		Awaze Anantapur		
RENIGUNTA RH		SWC Chittoor		
		Awaze Nellore		
		SWC Nellore Awaze Cudappa		
ONGOLE RH		Awaze Cudappa Awaze Chirala		
		Awaze Narsaraopet		
		Awaze Nellore		
		SWC Nellore		
		Awaze Guntur		
		SWC Thadepalli Guntur		
		Awaze Yerrabalem Guntur		
THIMMAPUR-RAN	GAREDDY	Awaze Moosapet		
RH		Awaze Jadcherla		
GAJWEL SIDDIPE		Awaze Gajwel		
GAJWEL SIDDIPE	IRH	Awaze Kamareddy Awaze Medak		
		Awae Nizamabad		
JADCHERLA RH		DP World-Thimapur		
GADWAL RH		Awaze Jadcherla		
KAMAREDDY RH		Awaze Medak		
		Awaze Gajwel		
		Awae Nizamabad		
		Awaze Nirmal		
		Awaze Adilabad		
NIZAMABAD RH		Awaze Kamareddy Awaze Nirmal		
		Awaze Adilabad		
MANCHERIAL RH		Awaze Peddapalli		
		Awaze Jagtial		
		Awaze Karimnagar		
MIRAYALGUDA RH	1	Awaze Suryapet		
KHAMMAM RH		Awaze Suryapet, Awaze Miriyalguda		
KARIMNAGAR RH		Awaze Peddapalli		
		Awaze Jagtial		
		Awaze Mancherial		
on to Tr	ucks/lorries p	products at FACT ASC godowns and any oblaced by FACT's dealers or other agencies, we structions given by the authorised personnel at	eighing of bagged product	
PRPD. BY:			26	
<u> </u>		FERTILISERS AND CHEMICALS	FACT	
		TRAVANCORE LIMITED	IACI	
ransport ***********************	TICES		A REAL PROPERTY OF THE RE	

Clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana

- **8.1.11 Unloading of bagged products at FACT ASC godowns and** any godown/s rented by FACT from Trucks/lorries, weighing of unloaded bags (if necessary) and stacking in the godowns as per instructions given by the Sales Officer (SO) / Sr. Agro Service Officer(SASO) / Depot Officer(DO) or his authorised staff at the ASC. Unloading of bagged products transported to dealer's godown / State/Central Warehousing Corporations godown's is excluded from the scope of the contractor.
- **8.1.12 Re-bagging** including removing the bagged products from the stack, refilling the same in fresh bags, standardisation of rebagged products including weighing, stitching using thread suitable for PP bags and restacking. FACT shall provide empty bags for rebagging purpose. Stitching machine and thread for stitching (suitable for PP bags) shall be provided by the contractor at his own cost.
- **8.1.13 Stenciling** of Actual Cost/Govt. India subsidy/Maximum Retail Price/ Per kg sale price details on the bags (filled with 50 kg product or on empty bags) at ASC / **any** godown/s rented by FACT, as per instructions given by the authorised personnel at ASC / any godown/s rented by FACT using stencil plate, brush, paint etc., provided by the contractor **at his own cost**.
- 8.2 The quantity cleared, handled, transported, etc. as per paragraphs 8.1.1 to 8.1.8 above shall be assessed by computing the weight considering 20 numbers of bags filled with products as equivalent to one MT (1,000 kg) irrespective of actual gross weight of individual bags and shall not be based on weighment of individual bags or otherwise. In the case of transportation under paragraphs from 8.1.3 to 8.1.8 the UoM shall be MTK, i.e. the product of quantity in MT worked out as above and the distance in km. For e.g. transportation of 300 bags (15 MT) filled with products by truck for a distance of 120 km constitutes a quantity of (120 x 15) = 1800 MTK. For serial numbers from 8.1.3 to 8.1.8 above, the rates are in "Rupees per MT per km". The UoM for the above items is "MTK" (quantity in MT multiplied by distance in km). By multiplying the rate in Rs.per MT per km with the actual quantity in MTK (quantity in MT transported x distance in km between the RH and the delivery point) will be the value of the respective transportation work. In the case of transportation under paragraph 8.1.2 with in a distance not exceeding 15 km from RH} the rate (Rs. per MT) shall be applicable for the quantity assessed as above irrespective of the actual distance from RH within the distance limit specified.
- **8.3** The contractor or his authorised representative shall liaise with Railways and monitor arrival schedule of rakes at the RH. The contractor or his authorized representative shall contact the Sales Officer (SO)/Sales-in-Charge (SIC) /Sr. Agro Service Officer (SASO)/Depot Officer (DO) or his authorised personnel at the ASC concerned and collect necessary documents and instructions for despatches.
- **8.4** The contractor shall provide adequate number of labourers and lorries/trucks for clearing, handling and transportation of products as required by FACT at short notice without causing any delay and levy of demurrage/ wharfage by railways. The contractor shall follow the extant rules of railways and ensure that the bagged products are promptly cleared from the wagons at the RH within the allowed free time given by railways from time to time, so as to avoid incidence of demurrage / wharfage. Whenever consignment arrives before receipt of Railway Receipt (RR), the contractor shall arrange to clear the consignment on indemnity bond, in order to avoid any demurrage or wharfage. In case of failure by the contractor to clear, handle and transport the required quantity within the free time allowed by railways all costs inter-alia demurrage / wharfage, incidental to such failure shall be to the account of the contractor.

PRPD. BY:			27
Transport Pervices	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

- **8.5** The contractor shall carry out all works incidental to the scope of work stated above, whether expressly mentioned herein or not, for executing the contract to the satisfaction of FACT.
- **8.6** Transportation of bagged products shall be undertaken in Lorries / trucks only. Products loaded on trucks/lorries shall be secured and protected by covering with tarpaulin irrespective of weather condition. The bagged products are to be handled with due care and hooks shall not be used while handling so as to avoid damage to products.
- **8.7** As per the instructions given by SO/SIC/SASO/DO the contractor shall directly transport and deliver the products to ASC godowns / any other warehouse rented by FACT/Stock Points/Dealer's godowns, immediately after clearing the goods from RH. Whenever sale takes place from RH either in part or in full, the contractor shall load such quantities on to the trucks/lorries placed by FACT's dealers, or other agencies for onward dispatch to the dealers' godowns/specific locations and the balance quantity only shall be transported to ASC godowns / any other warehouse rented by FACT/Stock Points/Dealer's godowns.
- **8.8** In the case of transportation of bagged products as per scope of work, distances from the RH to various godowns of ASC/ Warehouse / dealer etc., as verified by a committee of FACT officials, would be the basis for working out transportation charges. Wherever the distances verified by FACT's committee are not available, distance certificates issued by National Highway Authority of India or State Highways authorities or State Road Transport Corporation or Automobile Association of India, as available shall be considered as the basis for release of payment. For all such cases SRM shall certify the bills for payment based on the said documents.
- **8.9** FACT shall not be responsible for any delay in unloading the bagged products at the ASC Godown or any warehouse taken on rent or dealer's godowns or any other destinations. No detention charges for trucks at the loading/unloading points or any locations shall be payable to the contractor under any circumstances whatsoever.
- **8.10** In the case of RH sales and delivery to FACT's dealers as per instructions of FACT officials viz. SO/ SIC / SASO / DO, any delay in clearance of rake due to delay in placement of lorries directly attributable to the dealers, the responsibility regarding the demurrage/ wharfage so incurred will be decided on a case to case basis by the Sr. Regional Manager/Marketing (SRM) concerned. The contractor shall keep in constant touch with SO/ SIC / SASO / DO, at the ASC concerned and carry out the works.
- **8.11** If railways demand any legally valid charges including undercharges at the time of clearance of rake, the contractor shall make the payment to railways under intimation to SO/ SIC / SASO / DO and clear the rake with out delay. However, if demand of railways appear to be not valid, the contractor will make payment under protest under intimation to SO/ SIC / SASO / DO and clear the rake with out delay. In such cases, a copy of the letter of protest issued by the contractor acknowledged by railways should be forwarded to FACT. The contractor may claim reimbursement from FACT of the amounts so paid, producing (i) the payment receipt in original from railways and (ii) letter of protest, if any, duly acknowledged by railways in original.
- **8.12** The contractor or his representative or his workmen shall not interfere, obstruct, cause to be interfered with any work entrusted with other contractors by FACT and in the event of his non-compliance with the above FACT will take appropriate remedial action as deemed fit at the risk and cost of the contractor. Any damage caused to FACT's own or hired building/equipment or any property of Dealers of FACT etc., due to the negligence of the contractor or his workmen,

PRPD. BY:			28
Transport Services	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

will be to the account of the contractor and FACT shall be indemnified by him in all such cases.

- **8.13** Safe handling / carriage: Contractor is entirely responsible for carrying out the work in a safe manner and he shall ensure safe handling, carriage and delivery of bagged products. In case the shortage/damage/non--delivery of products occurs due to reason(s) attributable to the contractor, FACT shall deduct 150% of the value (MRP plus Govt. subsidy) of product so affected as applicable from the contractor's bills / security deposit etc as necessary.
- **8.14** The bagged products are to be handled with due care and caution ensuring that no bagged product gets damaged during handling. If any loss or damage is caused to the bags or materials as a result of negligence or carelessness of the contractor or the workmen engaged by him, the contractor shall be liable to compensate FACT for such loss or damages. In case of cut and torn bags, Rs.30/- per bag shall be deducted from his bills as damages in addition to the cost of the material, if ascertained that the bags are cut & torn on account of the contractor.

9.0 DELIVERY

- **9.1** Bagged products entrusted with the contractor shall be transported to and delivered at the destinations as expeditiously as possible with in the same day/next day as practically workable, but in any case not exceeding 3 (three) days. No transhipment is envisaged for transportation. In case the bagged products are held up en-route and delivery is likely to exceed the normal time as above, due to break-down or accident or for any other reason(s), the matter shall be promptly intimated over telephone on occurrence of such event followed by fax / E-Mail to (i) The Sales Officer / Depot Officer of the ASC concerned (ii) The Sr. Regional Manager (Marketing) concerned.
- **9.2** Acknowledgment shall be obtained on the Delivery Chelan (DC) / Material Despatch Advice (MDA) from the Consignee at the destination point, with office seal, signature, date and time of delivery etc., on all copies, which shall be the basis for proof and date of delivery. In the case of delivery to the Warehouse/Godowns/Dealers other than FACT ASC, the contractor shall deliver the goods to the same and shall obtain acknowledgment of the delivery on all copies of the DC/MDA and get office seal, signature, date and time of delivery etc., on the DC/MDA, from the authorised personnel of the Warehouse/ Godown/Dealer. Immediately on delivery of goods, one acknowledged copy of the DC/MDA shall be submitted to the FACT Sales Officer/Depot Officer/ Depot Assistant concerned, for their certification.
- **9.3** In case the contractor fails to comply with the above requirements FACT reserves the right to recover 150% of the value (MRP plus Govt. Subsidy) of product as applicable without prejudice to other contractual rights of FACT.

10.0 COMPLIANCE OF ACTS AND RULES & REGULATIONS:

10.1 The Employees' Provident Funds and Miscellaneous Provisions Act, 1952 (PF) & The Employees' State Insurance Act, 1948 (ESI) and the Rules and Regulations thereof: The contractor shall ensure full compliance with the above Acts and Rules & Regulations. The workers deployed by the contractor for the work shall be covered under the above Acts. The contractor shall be responsible for making all payments to his workmen, including ESI and PF benefits etc., as applicable. The contractor shall maintain proper records relating to labour employed, wages paid etc in the prescribed proforma as per the relevant provisions of the Acts

PRPD. BY:			29
Transport Pervices	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

and Rules & Regulations. Copies of the returns acknowledged / accepted by the competent office/authority prescribed in the Act, duly attested by the authorised signatory of the contractor, shall be submitted to FACT before final settlement of the contract. In case FACT is to incur any expenditure/loss in the capacity as Principal Employer on account of the above, such expenditure/loss shall be reimbursed/compensated to FACT within a reasonable time, failing which FACT reserves the right to recover the same from the contractor from any payments due to him, without prejudice to FACT's rights for recovery of the same.

- **10.2** Vehicles employed during the course of execution of the Contract, shall have valid permits in compliance with the Motor Vehicles Act, 1988 and the Central Motor Vehicle Rules, 1989 and regulations formulated from time to time.
- **10.3** The contractor shall comply with the requirements of all Local, State and Central Govt. Acts, Rules, Regulations, Bylaws, Orders etc, in force from time to time and in particular, the Factories Act, 1948, the Workmen's Compensation Act 1923, the Contract Labour (Regulation and Abolition) Act, 1970, the Minimum Wages Act,1948, The Mines Act 1952, the Explosives Act 1884 and all other relevant Acts and Rules as amended from time to time in so far as they are or may be applicable to the execution of works as per this contract. The contractor shall obtain at his cost all permits, license and other authorization, as required for his work, from Govt. authorities. The contractor shall maintain proper records & registers as required by the statutes concerned and submit them to FACT as and when required. In case the contractor fails to discharge his statutory obligations leading to a situation wherein FACT is to incur any expenditure/loss such expenditure/loss, including those in any proceedings or litigation, as a result of any claim or act on the part of the employees of the contractor, shall be reimbursed/compensated to FACT within a reasonable time, failing which FACT reserves the right to recover the same from the contractor from any payments due to him, without prejudice to FACT's rights for recovery of the same.

11.0 PAYMENT

- **11.1** Payment for the work done as per this contract shall be effected as per the terms and conditions of the contract, on presentation of the bills to the SRM of the respective Regional Office of FACT, duly certified by the SO/SIC concerned. The Bills in duplicate in the prescribed proforma shall be submitted on completion of the work duly supported by copies of the DC/MDA acknowledged by the authorised personnel of ASC/ Warehouse/ Godown / Dealer concerned. Payment of bills to the contractor will be made through NEFT/RTGS from the respective Regional Office normally within 15 days from the date of submission of bills along with all supporting documents.
- **11.2** Payments shall be made after deduction of (i) amounts due from contractor to FACT on account of shortage/damages/loss to the goods entrusted to them, (ii) statutory deductions such as Income Tax, GST etc. as applicable and (iii) any other amount due from the contractor for any other reason. If the amount due from the contractor is more than the amount due to the contractor, the contractor shall pay FACT the balance amount without delay.

12.0 ALTERNATE ARRANGEMENT AT THE RISK & COST OF CONTRACTOR

In the event of failure on the part of the contractor to execute the contract to FACT's satisfaction FACT may give notice in writing to the contractor calling him to make good the failure, neglect or contravention complained of within the said time. If the contractor still fails to make good failure as called for, FACT reserves the right to terminate the Contract in whole or part and make alternate arrangements to carry out the work through other agencies or by themselves **at the**

PRPD. BY:			30
Transport	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

risk and cost of the contractor without prejudice to FACT's other rights as per the Contract. FACT shall recover all additional costs incurred for such alternate arrangements from the contractor's running bills or from any amounts due to the contractor.

13.0 INDEMNITY

Without prejudice to any other provisions in these conditions, the contractor shall be bound to keep FACT or any representative or employee of FACT fully indemnified against any action, claim or proceedings under the provisions of any rules, regulations, byelaws, notifications, directions or order having the force of law for anything done or omitted to be done by the contractor in contravention of such provisions etc. for the infringement or violation thereof by him in the course of the execution or completion of the work under the contract and if, as a result of any such action, claim or proceedings, the contractor or such representative of FACT, as the case may be, adjudged to be liable to any penalties or to pay any penalties or to pay any compensation, such liability, the contractor shall do so and if FACT has to take-over the liability, FACT shall deduct all amounts arising out of such liabilities from the security deposit of the contractor or any other amount due and payable by FACT to the contractor under this Contract or any other Contract and without prejudice to any other legal remedy available to FACT.

14.0 CONSTITUTION OF THE CONTRACTOR

Any alteration in the composition or constitution of the contractor and events like death/ resignation of Proprietor/Partner/Director, contractor becoming bankrupt/insolvent/liquidated/ under BIFR shall be notified to (i) SO /SIC/ SASO/DO concerned, (ii) SRM concerned, (iii) The Area Manager (Marketing) concerned and (iv) The Chief Distribution Manager, Marketing Division, FACT Limited, Udyogamandal within a week's time of the event. In such situations FACT reserves the right to terminate or continue the contract or to require the contractor/survivor to produce such documents or to conform to such formalities for continuing the work, as FACT deems fit.

15.0 ASSIGNMENT

The contractor shall not assign or transfer or sublet the contract or any part thereof without the prior written approval of FACT.

16.0 FACT'S LIEN ON ALL MONEYS DUE

FACT shall have a lien on all/any money that may become due and payable to the contractor under these presents, and/or also on the deposit or security amount or amounts made under the contract and which may become payable to the contractor under the conditions in that behalf herein contained for or in respect of any debt or sum that may become due and payable to FACT by the contractor either alone or jointly with another or others and either under this or under any other contract or transaction of any nature whatsoever between FACT and the contractor and further that FACT shall at all times be entitled to deduct the said debt or deposit which may become payable to the contractor under these presents.

17.0 TERMINATION OF CONTRACT

FACT at its entire discretion may terminate the contract either in part or in full after giving 7 (Seven) days' notice in writing to the contractor.

PRPD. BY:			31
Transport Pervices	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

18.0 FORCE MAJEURE

Neither the contractor nor FACT shall be considered in default in the performance of their obligations under the Work Order so long as the performance is prevented or delayed because of Force Majeure conditions like war or hostilities, riots or civil commotion, earth quake, flood or tempest, drought, accident, fire or explosion, labour strike or lock-out or Act-of-God or because of any law and order proclamation, regulation or ordinance of Government or subdivision thereof and situation arising out of FACT's plant break downs. Notice of a Force Majeure situation shall be given by the affected party to the other party with in one week of its occurrence. Should such a delay be for more than three months, FACT shall have the right to cancel the Work Order at no charge to FACT and FACT shall be entitled to reimbursement of any amount due from the contractor.

19.0 APPLICABLE LAW & SETTLEMENT OF DISPUTES

This contract shall be subject to and shall in all respects be governed by Indian law.

(i) If the Seller is a Central Public Sector Enterprise / Central Government Department:

In the event of any dispute or difference relating to the interpretation and application of the provisions of this contract(s) between Central Public Enterprises (CPSEs)/Port Trusts inter-se and also between CPSEs and government departments / Organizations (excluding disputes concerning taxation), such dispute/ difference shall be taken up by either Party for resolution through AMRCD as mentioned in DPE OM No. 4(1)2013-DPE(GM)/FTS-1835 dated 22.05.2018."

(ii) For contracts other than (i) above:

If any dispute arises out of or relating to or in connection with this CONTRACT, between the CONTRACTOR and the OWNER/FACT, the same shall be amicably settled through mutual discussions, failing which, the unresolved dispute(s) shall be referred to arbitration in accordance with the provisions of the Arbitration and Conciliation Act, 1996, as amended from time to time and number of Arbitrator shall be one. The venue of the Arbitration shall be at Ernakulam and the proceedings shall be in ENGLISH. Any legal proceedings relating to or in connection with this contract shall be limited to the exclusive jurisdiction of the High Court of Kerala.

20.0 CORRESPONDENCE

All notices and correspondence (including via Telephone, e-mail & FAX) shall be deemed to have been duly given to the contractor if delivered to the contractor or his authorised agent or posted to the address so given. In the event of refusal to accept any notices and correspondence or failure on the part of authorised agent to contact the SO/SIC/SASO/DO or his authorised at the concerned Agro Service centres as applicable, notice of contract shall be deemed as served.

21.0 FRAUD PREVENTION POLICY OF FACT

FACT, a Central Public Sector Enterprise (PSE) follows Corporate Governance principles proactively and has formulated a Fraud Prevention Policy. Details of Fraud Prevention Policy of FACT 2012 can be viewed in FACT's website <u>www.fact.co.in</u>. Contractor shall make himself aware of the above policy and comply with the same.

PRPD. BY:		32
Transport Pervices	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT

Clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana

ANNEXURE VII

		Summary Sheet-BoQ-Sheet 1	
SL.No.	RH Destination	Total Amount	quoted against RH
1	VIJAYAWADA		
2	GUNTUR		
3	THADEPALLIGUDEM		
4	ANANTHAPUR		
5	ADONI		
6	MANDAPETA		
7	KADAPPA		
8	NANDYAL		
9	RENIGUNTA		
10	ONGOLE		
11	THIMMAPUR		
12	GAJWEL		
13	JADCHERLA		
14	GADWAL		
15	KAMAREDDY		
16	NIZAMABAD		
17	MANCHERIAL		
18	MIRAYALGUDA		
19	WARANGAL		
20	KHAMMAM		
21	KARIMNAGAR		
Bidders qu that RH	oting for any RH shall Mar	k "Y" against blank cells pr	ovided corresponding to
RPD. BY:			33
ransport 🛠		LISERS AND CHEMICALS	FACT

Clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana ENQUIRY No.MM/180/E28527 Dated.18.11.2023

SI No.	Items o	of work	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amount for item in Rs.
1	Clearing & Allied Work scope of work o		MT	70,000	105	73,50,000.00
2	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of Up to 15kmItem No. 8.1.2 of scope of work of Annexure-VI.		MT	38,000	100	38,00,000.00
3	Transportation fro Godowns/stock point/ distance of above 15 km – Item No. 8.1.4 Annexu	Dealer point within a & not exceeding 25 of scope of work of	МТК	25,000	10.6	2,65,000.00
4	Transportation fro Godowns/stock point/ distance of above 25 50 km – Item No. 8.1 Annexu	Dealer point within a km & not exceeding .5 of scope of work of	МТК	5,50,000	10.6	58,30,000.00
5	Transportation fror (KCC)Rail Head Takellapadu/Stora	O AWZ GUNTUR	MTK	50,000	10.6	5,30,000.00
6	Transportation fror (KCC)Rail Head to (Guntur)/Storage	AWZ Budampadu	MTK	50,000	10.6	5,30,000.00
7	Transportation fror (KCC)Rail Hea Gudivada/Storag	d to APSWC	MTK	1,00,000	10.6	10,60,000.00
8	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 50 km & not exceeding 100 km – Item No. 8.1.6 of scope of work of Annexure- VI		МТК	2,00,000	5.8	11,60,000.00
9	Transportation from (KCC)Rail Head Narsaraopeta /Stora	to AWAZE LTD	МТК	50,000	5.8	2,90,000.00
10	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 100 km & not exceeding 150 km – Item No. 8.1.7 of scope of work of Annexure- VI		МТК	1,75,000	4.5	7,87,500.00
PRPD.	BY:		I		· ·	34
rai	nsport	FERTILISERS A TRAVANCORI		104	FACT	

	FACT RPORATE ATERIALS	(fertiliz	, handling and transp ers, gypsum or other Ids (RH) in Andhra F	materials) at various	Rail	No.M	ENQUIRY M/180/E28527 ed.18.11.2023
11	(KCC)R	Transportation from KRISHNACANAL (KCC)Rail Head to APSWC Piduguralla /Storage Point - 100 KMS		МТК	60,000	4.	5	2,70,000.00
12	(KCC)Rai	Transportation from KRISHNACANAL (KCC)Rail Head to Sri Vijayaram transport TP Gudem/Storage Point - 145 KMS			80,000	4.	5	3,60,000.00
13	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 150 km & not exceeding 200 km – Item No. 8.1.8 of scope of work of Annexure- VI			9	2,50,00	0 3.	4	8,50,000.00
14	ASC/Ware	house- Ite	d products at FACT m No. 8.1.10 of scop Annexure-VI.	e MT	25,000	4	0	10,00,000.00
15	ASC/Warehouse-Item		d products at FACT No.8.1.11 of scope onnexure-VI	of MT	25,000	5	8	14,50,000.00
16		ise – Item I	lisation at FACT ASC No.8.1.12 of scope of nnexure VI.		6,000 23		3	1,38,000.00
17		No.8.1.13	FACT ASC/Warehous of scope of work of sure-VI	e MT	6,000	6	0	3,60,000.00
	Tot	al estimated	d Amount(INR):					2,60,30,500.0
	Bidders quoting for Vijayawa Mark "Y" against blank cell provide total estimated amount							
			2.GUNTUR R	H-REDD	[PALEM			
SI No.	Items of work			Unit (UoM)	Quantity in UoM	Estimat Rate (Rs/Uo		Estimated Amount for item in Rs.
1	Clearing & Allied Works - Item No. 8.1.1. of scope of work of Annexure-VI.		MT	30,000	152		45,60,000.00	
	1			L	I	I	I	
PRPD.	BY:							35
	ransport Services FERTILISERS							

	FACT RPORATE ATERIALS	(fertiliz	handling and transp ers, gypsum or other ds (RH) in Andhra P	materials	s) at various F		ENQUIRY No.MM/180/E28527 Dated.18.11.2023
2	Godowns/ a distar	stock point/ ice of Up to	m Rail Heads to Dealer point within 15kmItem No. k of Annexure-VI.	MT	3,000	120	3,60,000.00
3	Head to A		n Reddipalem Rail Ikellapadu(Guntur) t - 15 KMS	MTK	75,000	9.6	7,20,000.00
4		Head to Av	Storage Point - 15	МТК	75,000	9.6	7,20,000.00
5	Godowns/ a distanc 25 km	'stock point/ e of above 1	m Rail Heads to Dealer point within 5 & not exceeding 8.1.4 of scope of exure- VI	МТК	25,000	12	3,00,000.00
6	Godowns/ a dist exceedin	stock point/ ance of abo g 50 km –	m Rail Heads to Dealer point within ve 25 km & not Item No. 8.1.5 of Annexure- VI	МТК	40,000	12	4,80,000.00
7			n Reddipalem Rail palli /Storage Point MS	МТК	30,000	12	3,60,000.00
8	Transportation from Godowns/stock point/De a distance of above exceeding 100 km – It scope of work of A		Dealer point within ve 50 km & not · Item No. 8.1.6 of	МТК	3,00,000	6.5	19,50,000.00
9	Head t		n Reddipalem Rail d Narsaraopeta t - 75 KMS	МТК	2,00,000	6.5	13,00,000.00
10		ortation from Reddipalem Rail APSWC Piduguralla /Storage Point - 72 KMS		МТК	1,00,000	6.5	6,50,000.00
11		Transportation from Reddipalem Rail Head to APSWC Gudivada /Storage Point - 90 KMS			50,000	6.5	3,25,000.00
RPD. BY:							36
Fransport Services			FERTILISERS TRAVANCO			F	ACT

	FACT RPORATE ATERIALS	Clearing, handling and transpo (fertilizers, gypsum or other Heads (RH) in Andhra P	materials	s) at various R	Dail NO	ENQUIRY No.MM/180/E28527 Dated.18.11.2023	
12	Godowns/ a dista exceeding	oortation from Rail Heads to stock point/Dealer point within ince of above 100 km & not g 150 km – Item No. 8.1.7 of e of work of Annexure- VI	MTK 2,50,000		3.7	9,25,000.00	
13		rtation from Reddipalem Rail FACT ASC Ongole /Storage Point - 130 KMS	МТК	80,000	3.7	2,96,000.00	
14		rtation from Reddipalem Rail AWAZE Ltd Ongole/Storage Point - 132 KMS	МТК	50,000	3.7	1,85,000.00	
15	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 150 km & not exceeding 200 km – Item No. 8.1.8 of scope of work of Annexure- VI		МТК	1,50,000	3	4,50,000.00	
16	Head to	rtation from Reddipalem Rail o Sri Vijayaram transport TP n/Storage Point - 160 KMS	МТК	1,00,000	3	3,00,000.00	
17	ASC/Wa	of bagged products at FACT rehouse- Item No. 8.1.10 of e of work of Annexure-VI.	MT	8,000	65	5,20,000.00	
18	ASC/Ware	g of bagged products at FACT house-Item No.8.1.11 of scope f work of Annexure-VI	MT	8,000	70	5,60,000.00	
19	/ Wareho) / standardisation at FACT ASC use – Item No.8.1.12 of scope f work of Annexure VI.	MT	1,000	200	2,00,000.00	
20	ASC/Wa	enciling on Bags at FACT rehouse – Item No.8.1.13 of e of work of Annexure-VI	MT	3,000	80	2,40,000.00	
		Total estimated Am	nount(INF	k):		1,54,01,000.00	
	Mark "Y"	quoting for Guntur RH shall ' against blank cell provided ' total estimated amount		ted Excess o oted in percer			

	3.TADEPALLIGUDEM RH										
SI No.	Items o	f work	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amount for item in Rs.					
1	Clearing & Allied Wor	ks - Item No. 8.1.1.	MT	90,000	130	1,17,00,000.00					
PRPD.	BY:					37					
Trai	nsport Services	FERTILISERS TRAVANCO			FAC	Т					

) Irar	nsport Services	FERTILISERS AND CHEMICALS					
RPD.	BY:					38	
11	Transportation from Rail Head to APSWC ⁻ Point - 12	Tadepalli /Storage	МТК	80,000	5.5	4,40,000.00	
10	Transportation from Tadepalligudem Rail Head to Sowmya Logistics Kakinada /Storage Point - 124 KMS		МТК	1,20,000	5.5	6,60,000.00	
9	Transportation fro Godowns/stock point/ a distance of abov exceeding 150 km - scope of work of	Dealer point within e 100 km & not Item No. 8.1.6 of	МТК	3,90,000	5.5	21,45,000.00	
8	Transportation from Rail Head to APSWC Point - 9	Gudivada/Storage	МТК	80,000	8.7	6,96,000.00	
7	Transportation from Rail Head to Teja Mandapeta/Storage	Warehousing	МТК	2,00,000	8.7	17,40,000.00	
6	Transportation fro Godowns/stock point/ a distance of above exceeding 100 km - scope of work of	Dealer point within ve 50 km & not Item No. 8.1.5 of	МТК	6,00,000	8.7	52,20,000.00	
5	Transportation from Rail Head to Sri Venk Ethakota /Storage	ateswara Godowns	МТК	1,50,000	10	15,00,000.00	
4	Transportation fro Godowns/stock point/ a distance of abov exceeding 50 km – scope of work of	Dealer point within /e 25 km & not Item No. 8.1.4 of	МТК	3,50,000	10	35,00,000.00	
3	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 15 & not exceeding 25 km – Item No. 8.1.3 of scope of work of Annexure- VI		МТК	30,000	10	3,00,000.00	
2	Godowns/stock point/ a distance of Up to	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of Up to 15kmItem No. 8.1.2 of scope of work of Annexure-VI. Transportation from Rail Heads to		48,000	135	64,80,000.00	

	FACT RPORATE ATERIALS	(fertiliz	, handling and tra ers, gypsum or o ds (RH) in Andr	ther mate	erials)	at vario	ous Rail	ENQU No.MM/180 Dated.18.1	/E28527
12	Godowns/ a dista exceeding	stock point, nce of abov 200 km	m Rail Heads to /Dealer point wit /e 150 km & not - Item No. 8.1.7 Annexure- VI	hin	ТК	2,20,00	00 3	6,60),000.00
13	R	ransportation from Tadepalligude Rail Head to Awaze Ltd kellapadu(Guntur) /Storage Poir 165 KMS			ТК	1,00,00	00 3	3,00),000.00
14	Transpo Rail Hea (Guntur	L	ТК	1,00,00	00 3	3,00),000.00		
15	ASC/Wa	Loading of bagged products at FAC ASC/Warehouse- Item No. 8.1.9 of scope of work of Annexure-VI.				50,000) 50	25,0	0,000.00
16	Unloading ASC/Ware of		IT	50,000) 52	26,0	0,000.00		
17	/ Wareho		isation at FACT A No.8.1.11 of sco nnexure VI.		IT	3,000	120	3,60),000.00
18	ASC/Wa	rehouse – 1	Bags at FACT Item No.8.1.12 c f Annexure-VI		IT	6,000	75	4,50),000.00
	Tadepal ``Y″ agai	nst blank	Total estimate ing for H shall Mark cell provided ated amount	"Sel	ected	Excess	s or less and centage "		51,000.00
			4.AI	NANTHA	PUR R	RH			
SI No.		Items of v	vork	Unit (UoM)		JoM	Estimated Rate (Rs/UoM)	Estimated for item	
RPD.	BY:					i			39
 rar	nsport Serv	vices	FERTILIS	SERS AN	-			FACT	

CORPORATE (fertiliz		handling and tra rs, gypsum or o ls (RH) in Andh	ous Rail	ENQUIRY No.MM/180/E2852 Dated.18.11.2023			
1			orks - Item No. rk of Annexure-			90	36,00,000.00
2	Godowns within a	s/stock point, distance of L	Rail Heads to /Dealer point lp to 15km pe of work of /I.	MT	22,000	120	26,40,000.00
3	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 15 & not exceeding 25 km – Item No. 8.1.3 of scope of work of Annexure- VI			МТК	12,000	15	1,80,000.00
4	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 25 km & not exceeding 50 km – Item No. 8.1.4 of scope of work of Annexure- VI			МТК	27,000	15	4,05,000.00
5	Godowns within a c not excee	s/stock point, listance of al eding 100 kr	Rail Heads to /Dealer point pove 50 km & m – Item No. t of Annexure-	МТК	2,76,000	10	27,60,000.00
õ	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 100 km & not exceeding 150 km – Item No. 8.1.6 of scope of work of Annexure- VI			МТК	4,50,000	8.3	37,35,000.00
7			ANANTAPUR DONI/Storage KMS	МТК	3,00,000	8.3	24,90,000.00
3	Transportation from ANANTAPUR Rail Head to AWAZE KURNOOL/Storage Point - 150 KMS		МТК	3,00,000	8.3	24,90,000.00	
9	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 150 km & not exceeding 200 km – Item No. 8.1.7 of scope of work of Annexure- VI			МТК	1,05,000	8.1	8,50,500.00
PD.	BY:						40
ra	nsport Ser	vices		ERS AN	D CHEMICAL LIMITED	S	FACT

	FACT RPORATE ATERIALS	Clearing, handling and tra (fertilizers, gypsum or o Heads (RH) in Andh	ther mat	erials) at vari	ous Rail	ENQUIRY No.MM/180/E28527 Dated.18.11.2023
10	Ra	tation from ANANTAPUR ail Head to AWAZE /Storage Point - 190 KMS	МТК	3,00,000	8.1	24,30,000.00
11	Ra	tation from ANANTAPUR ail Head to AWAZE /Storage Point - 200 KMS	МТК	3,00,000	8.1	24,30,000.00
12	ASC/Ware	f bagged products at FACT ehouse- Item No. 8.1.9 of of work of Annexure-VI.	MT	24,000	50	12,00,000.00
13	FACT	ng of bagged products at ASC/Warehouse-Item .10 of scope of work of Annexure-VI	MT	24,000	60	14,40,000.00
14	ASC / Wa	g / standardisation at FACT rehouse – Item No.8.1.11 e of work of Annexure VI.	MT	2,400	180	4,32,000.00
15	Stenciling on Bags at FACT ASC/Warehouse – Item No.8.1.12 of scope of work of Annexure-VI		MT	3,600	90	3,24,000.00
	Total estimated A		mount(I	NR):		2,74,06,500.00
	RH shall cell p	quoting for Ananthapur Mark "Y" against blank provided below total stimated amount		ed Excess o ted in perce		

.

5.ADONI RH										
SI No.	Items of v	vork	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amount for item in Rs. 1,04,00,000.00				
1	Clearing & Allied Wo 8.1.1. of scope of wo VI.		MT	80,000	130					
2	Transportation from Godowns/stock poin within a distance of Item No. 8.1.2 of sc Annexure	t/Dealer point Up to 15km ope of work of	МТ	47,000	140	65,80,000.00				
PRPD.	BY:					41				
ransport Services		FERTILISERS AND CHEMICALS								

	FACT RPORATE ATERIALS	(fertiliz	, handling and tra ers, gypsum or o ids (RH) in Andh	ther mat	erials) at vario	ous Rail	ENQUIRY No.MM/180/E28527 Dated.18.11.2023
3	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 15 & not exceeding 25 km – Item No. 8.1.3 of scope of work of Annexure- VI		Godowns/stock point/Dealer point vithin a distance of above 15 & not xceeding 25 km - Item No. 8.1.3		16	9,60,000.00	
1	Godowns within a c not exce	ransportation from Rail Heads to odowns/stock point/Dealer point thin a distance of above 25 km & ot exceeding 50 km – Item No. 1.4 of scope of work of Annexure- VI			2,50,000	16	40,00,000.00
5	Godowns within a c not excee	VI Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 50 km & not exceeding 100 km – Item No. 8.1.5 of scope of work of Annexure- VI		МТК	2,00,000	11	22,00,000.00
5	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 100 km & not exceeding 150 km – Item No. 8.1.6 of scope of work of Annexure- VI		МТК	2,25,000	9	20,25,000.00	
7	Head to A		n ADONI Rail NOOL/Storage KMS	МТК	3,00,000	9	27,00,000.00
3		Head to AV	n ADONI Rail VAZE Je Point - 150	МТК	2,50,000	9	22,50,000.00
)	Godowns within a d not excee	Transportation from Rail Heads to Godowns/stock point/Dealer point vithin a distance of above 150 km & not exceeding 200 km – Item No. 8.1.7 of scope of work of Annexure- VI		МТК	3,00,000	7	21,00,000.00
0	Transportation from ADONI Rail Head to NRK NANDYAL/Storage Point - 190 KMS		YAL/Storage	МТК	3,00,000	7	21,00,000.00
1	Loading of bagged products at FACT ASC/Warehouse– Item No. 8.1.9 of scope of work of Annexure-VI.			MT	40,000	65	26,00,000.00
PD.	BY:						42
ran	nsport Serv	vices			D CHEMICALS	S 🔝	FACT

CORF	ACT PORATE ERIALS	(fertilizers	, gypsum or o	nandling and transportation of bagged products rs, gypsum or other materials) at various Rail s (RH) in Andhra Pradesh & Telangana					
12	FACT ASC/Warehous No.8.1.10 of scope of Annexure-VI		T ASC/Warehouse-Item .1.10 of scope of work of	loading of bagged products at MT 40,000 75 FACT ASC/Warehouse-Item o.8.1.10 of scope of work of Annexure-VI		30,00,000.00			
	Rebagging / standardisation ASC / Warehouse – Item N of scope of work of Annex		n No.8.1.11	MT	2,000	200	4,00,000.00		
14	Stenciling on E ASC/Warehouse – 3 scope of work o		No.8.1.12 of	MT	3,000	100	3,00,000.00		
	shall Mar	Tota quoting for k "Y" agains l below total amount	t blank cell	"Select	,	or less and entage "	4,16,15,000.00		
			6.MANDA	PETA-DW	ARAPUDI	RH			
51 No.		Items of wo	_	PETA-DW Unit	/ARAPUDI Quantity	RH Estimated	Estimated Amount		
51 No.		ng & Allied Wo	ork orks - Item		_		Estimated Amount for item in Rs. 47,63,880.00		
			orks - Item of work of	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	for item in Rs.		
	No. 8 Transpo Godowr within a	ng & Allied Wc .1.1. of scope	orks - Item of work of /I. Rail Heads to Dealer point p to 15km ope of work	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	for item in Rs.		
	No. 8 Transpo Godowr within a Item N Transpo Godowr within not exc	ng & Allied Wo .1.1. of scope Annexure-V ortation from R ns/stock point/ distance of U lo. 8.1.2 of sco	orks - Item of work of /I. Rail Heads to Dealer point p to 15km ope of work VI. Rail Heads to Dealer point above 15 & – Item No. work of	Unit (UoM) MT	Quantity in UoM 54,000	Estimated Rate (Rs/UoM) 88.22	for item in Rs. 47,63,880.00		
1	No. 8 Transpo Godowr within a Item N Transpo Godowr within not exc	ng & Allied Wo .1.1. of scope Annexure-V ortation from R ns/stock point/ distance of U lo. 8.1.2 of sco of Annexure- ortation from R ns/stock point/ a distance of a eeding 25 km 3 of scope of	orks - Item of work of /I. Rail Heads to Dealer point p to 15km ope of work VI. Rail Heads to Dealer point above 15 & – Item No. work of	Unit (UoM) MT MT	Quantity in UoM 54,000 35,000	Estimated Rate (Rs/UoM) 88.22 108	for item in Rs. 47,63,880.00 37,80,000.00		
1	No. 8 Transpo Godowr within a Item N Transpo Godowr within not exc 8.1	ng & Allied Wo .1.1. of scope Annexure-V ortation from R ns/stock point/ distance of U lo. 8.1.2 of sco of Annexure- ortation from R ns/stock point/ a distance of a eeding 25 km 3 of scope of	orks - Item of work of /I. Rail Heads to Dealer point p to 15km ope of work VI. Rail Heads to Dealer point above 15 & – Item No. work of	Unit (UoM) MT MT	Quantity in UoM 54,000 35,000	Estimated Rate (Rs/UoM) 88.22 108	for item in Rs. 47,63,880.00 37,80,000.00		

CORPORATE (fertiliz		Clearing, handling and to (fertilizers, gypsum or d Heads (RH) in And	other mat	erials) at vari	ous Rail	ENQUIRY No.MM/180/E28527 Dated.18.11.2023
4	Transportation from Rail Heads to Godowns/stock point/Dealer poin within a distance of above 25 km & not exceeding 50 km – Item No. 8.1.4 of scope of work of Annexure- VI		MTK	2,50,000	11.25	28,12,500.00
5	(Dwara	portation from Mandapeta pudi) to Sri Venkateswara ns Ethakota /Storage Point - 39 KMS	МТК	1,20,000	11.25	13,50,000.00
6	Transportation from Rail Heads to Godowns/stock point/Dealer poin within a distance of above 50 km & not exceeding 100 km – Item No. 8.1.5 of scope of work of Annexure- VI		МТК	2,20,000	8.82	19,40,400.00
7	(Dwara	oortation from Mandapeta pudi) to Sowmya Logistics la /Storage Point - 56 Kms	МТК	1,20,000	8.82	10,58,400.00
8	(Dwa	oortation from Mandapeta rapudi) to Sri Vijayaram port TP Gudem /Storage Point - 75 Km	МТК	50,000	8.82	4,41,000.00
9	Godowr within km &	ortation from Rail Heads to ns/stock point/Dealer point a distance of above 100 not exceeding 150 km – Io. 8.1.6 of scope of work of Annexure- VI	t	1,60,000	3.96	6,33,600.00
10	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 150 km & not exceeding 200 km – Item No. 8.1.7 of scope of work of Annexure- VI		МТК	1,80,000	2.7	4,86,000.00
11	Transportation from Mandapeta (Dwarapudi) to APSWC Gudivada /Storage Point - 174 Kms		(Dwarapudi) to APSWC Gudivada	80,000	2.7	2,16,000.00
12	FACT A	ng of bagged products at SC/Warehouse- Item No. .9 of scope of work of Annexure-VI.	MT	36,000	45	16,20,000.00
PD. BY	·:				100000000	44
Faner	port Serv		SERS AN ANCORE		S S	FACT

CORP	ACT PORATE ERIALS	Clearing, handling and tra (fertilizers, gypsum or o Heads (RH) in Andh	ENQUIRY No.MM/180/E28527 Dated.18.11.2023			
13	Unloading of bagged products at FACT ASC/Warehouse-Item No.8.1.10 of scope of work of Annexure-VI		MT	36,000	45	16,20,000.00
14	FACT	gging / standardisation at ASC / Warehouse – Item 1.11 of scope of work of Annexure VI.	MT	2,000	90	1,80,000.00
15	Stenciling on Bags at FACT ASC/Warehouse – Item No.8.1.12 of scope of work of Annexure-VI		MT	5,000	18	90,000.00
		Total estimated	Amount(INR):		2,10,25,530.00
	Manda agair	Bidders quoting for apeta RH shall Mark "Y" nst blank cell provided total estimated amount		ed Excess o ted in perce		

		7. K	KADAPPA	RH		
SI No.	Items of	Items of work	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amount for item in Rs.
1	Clearing & Allied W 8.1.1. of scope of we VI.		MT	29,000	150	43,50,000.00
2	Transportation fror Godowns/stock poi within a distance o Item No. 8.1.2 of s Annexur	nt/Dealer point f Up to 15km cope of work of	МТ	22,000	99	21,78,000.00
3	Transportation fror Godowns/stock poi within a distance of exceeding 25 km - of scope of work o	nt/Dealer point above 15 & not - Item No. 8.1.3	МТК	8,000	12	96,000.00
RPD. B	Y:					45
Trans	sport Services	-	RS AND C	CHEMICALS	FA	CT

FACT
CORPORATE
MATERIALS

RPD. BY: ransport ervices FERTILISERS AND CHEMICALS TRAVANCORE LIMITED FACT						
PD P	Head to SWC NEL Point - 19					46
13	Head to AWAZE N Point - 19 Transportation from	0 KMS m KADAPA Rail	МТК	2,00,000	5.5	11,00,000.00
12	Point - 19 Transportation from	0 KMS m KADAPA Rail	МТК	2,00,000	5.5	11,00,000.00
11	Transportation from Head to SWC CHI	n KADAPA Rail	МТК	2,00,000	5.5	11,00,000.00
10	Transportation from Head to A ANANTAPUR/Stora KMS	AWAZE age Point - 190	МТК	2,00,000	5.5	11,00,000.00
9	Godowns/stock po within a distance of not exceeding 200	ransportation from Rail Heads to odowns/stock point/Dealer point thin a distance of above 150 km & ot exceeding 200 km – Item No. 1.7 of scope of work of Annexure- VI		1,05,000	5.5	5,77,500.00
8	Head to A RENIGUNTA/Store	Head to AWAZE RENIGUNTA/Storage Point - 140 KMS	МТК	2,00,000	6	12,00,000.00
7	Head to AWAZE NA	ansportation from KADAPA Rail ad to AWAZE NANDYAL/Storage Point - 135 KMS		2,00,000	6	12,00,000.00
6	Godowns/stock po within a distance of not exceeding 150	tation from Rail Heads to s/stock point/Dealer point istance of above 100 km & eding 150 km – Item No. cope of work of Annexure- VI		1,50,000	6	9,00,000.00
5	Transportation from Godowns/stock po within a distance of not exceeding 100 8.1.5 of scope of wo VI	int/Dealer point above 50 km & km – Item No.	МТК	54,000	8	4,32,000.00
4	Transportation from Godowns/stock po within a distance of not exceeding 50 8.1.4 of scope of wo VI	int/Dealer point above 25 km & km – Item No.	МТК	33,000	12	3,96,000.00

CORP	ACT PORATE ERIALS	Clearing, han (fertilizers, g Heads (F	rious Rail	ENQUIRY No.MM/180/E28527 Dated.18.11.2023			
14	ASC/Wa	of bagged produ rehouse- Item N of work of Anne	No. 8.1.9 of		21,000	0 60	12,60,000.00
15	5 Unloading of bagge FACT ASC/Ware No.8.1.10 of scop Annexure		se-Item work of	MT	21,000) 95	19,95,000.00
16	Rebagging / standardisation at FACT ASC / Warehouse – Item No.8.1.11 of scope of work of Annexure VI.		MT	1,200	190	2,28,000.00	
17 Stenciling on Ba ASC/Warehouse – Ite scope of work of		rehouse – Item I	No.8.1.12 of	MT 2,400 70		1,68,000.00	
			al estimated	l Amount	(INR):	1	1,93,80,500.00
	RH shall	ers quoting for Mark "Y" agai cell provided be	inst blank elow total	"Selected Excess or less and Quoted in percentage "			
		estimate	d amount 8.	NANDY	AL RH		
SI No.		estimate	8.	NANDY/ Unit (UoM)	AL RH Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amoun for item in Rs.
5I No.			8. k <s -="" item<br="">f work of</s>	Unit	Quantity	Rate	
	No. 8 Transpo Godowr within a	Items of wor ng & Allied Work .1.1. of scope of	8. k <s -="" item<br="">f work of il Heads to ealer point to 15km e of work</s>	Unit (UoM)	Quantity in UoM	Rate (Rs/UoM)	for item in Rs.
1	No. 8 Transpo Godowr within a Item N Transpo Godowr within not exc	Items of work ng & Allied Work .1.1. of scope of Annexure-VI. prtation from Rai as/stock point/De a distance of Up lo. 8.1.2 of scop	8. k k k k k k k k	Unit (UoM) MT	Quantity in UoM 50,000	Rate (Rs/UoM) 94	for item in Rs. 47,00,000.00
1	No. 8 Transpo Godowr within a Item N Transpo Godowr within not exc	Items of work ng & Allied Work .1.1. of scope of Annexure-VI. ortation from Rains/stock point/De distance of Up lo. 8.1.2 of scop of Annexure-V ortation from Rains/stock point/De a distance of ab eeding 25 km 3 of scope of w	8. k k k k k k k k	Unit (UoM) MT MT	Quantity in UoM 50,000 21,000	Rate (Rs/UoM) 94 110	for item in Rs. 47,00,000.00 23,10,000.00
1	No. 8 Transpo Godowr within a Item N Transpo Godowr within not exc 8.1	Items of work ng & Allied Work .1.1. of scope of Annexure-VI. ortation from Rains/stock point/De distance of Up lo. 8.1.2 of scop of Annexure-V ortation from Rains/stock point/De a distance of ab eeding 25 km 3 of scope of w	8. k k k k k k k k	Unit (UoM) MT MT	Quantity in UoM 50,000 21,000	Rate (Rs/UoM) 94 110	for item in Rs. 47,00,000.00 23,10,000.00

4	Transportation from Rail Hea Godowns/stock point/Dealer		тк	2,00,000	10.8	21,60,000.00		
	within a distance of above 2 & not exceeding 50 km - 1 No. 8.1.4 of scope of work Annexure- VI	Item						
5	Transportation from Rail Hea Godowns/stock point/Dealer within a distance of above 5 & not exceeding 100 km – No. 8.1.5 of scope of work Annexure- VI	point 0 km Item	ТК	2,00,000	8	16,00,000.00		
6	Transportation from Nandya Head toAwaze Kurnool/Stor Point - 85 KMS	rage	TK	3,00,000	8	24,00,000.00		
7	Transportation from Rail Hea Godowns/stock point/Dealer within a distance of above km & not exceeding 150 km Item No. 8.1.6 of scope of w of Annexure- VI	point 100 m – work	ТК	62,500	7.5	4,68,750.00		
8	Transportation from Nandya Head to Awaze CUDAPP/ /Storage Point - 135 KM	۹ (ТК	3,00,000	7.5	22,50,000.00		
9	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 150 km & not exceeding 200 km – Item No. 8.1.7 of scope of work of Annexure- VI		Godowns/stock point/Dealer point within a distance of above 150 km & not exceeding 200 km – Item No. 8.1.7 of scope of work of Annexure- VI	point 150 m –	ТК	87,500	3.9	3,41,250.00
10	Transportation from Nandya Head to Awaze Adoni /Stor Point - 190 KMS		ТК	3,00,000	3.9	11,70,000.00		
11	Transportation from Nandya Head to Awaze Anantapu /Storage Point - 190 KM	ır	ТК	3,00,000	3.9	11,70,000.00		
12	Loading of bagged product FACT ASC/Warehouse- Item 8.1.9 of scope of work o Annexure-VI.	n No.	1⊤	12,000	62	7,44,000.00		
13	Unloading of bagged product FACT ASC/Warehouse-Ite No.8.1.10 of scope of work Annexure-VI	em	1T	12,000	65	7,80,000.00		
PRPD. BY:						48		
~ ransp	FERTILISERS AND CHEMICALS Fransport Fertilisers Fertilisers							

	FACT RPORATE ITERIALS	Clearing, handling and t (fertilizers, gypsum or Heads (RH) in And	other materi	als) at vario	us Rail	ENQUIRY No.MM/180/E28527 Dated.18.11.2023		
14	FACT	gging / standardisation at ASC / Warehouse – Item .1.11 of scope of work of Annexure VI.	MT	1,000	100	1,00,000.00		
15	ASC/Wa	nciling on Bags at FACT arehouse – Item No.8.1.12 de of work of Annexure-VI		2,000	70	1,40,000.00		
	RH sha blank o	Total estimate s quoting for Nandyal all Mark "Y" against cell provided below stimated amount	"Selected	R): Excess or percentag		2,05,50,000.00		
		9	. RENIGUNT	A RH				
SI No.		Items of work	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amount for item in Rs.		
1		g & Allied Works - Item No scope of work of Annexure		20,000	148	29,60,000.00		
2	Godowi within a d	ortation from Rail Heads to ns/stock point/Dealer poin listance of Up to 15kmIt 3.1.2 of scope of work of Annexure-VI.	t	8,000	120	9,60,000.00		
3	Godowi within a exceeding	ortation from Rail Heads to ns/stock point/Dealer poin distance of above 15 & no g 25 km – Item No. 8.1.3 e of work of Annexure- VI	t ot	12,000	18	2,16,000.00		
4	Godowi within a d exceeding	ortation from Rail Heads to ns/stock point/Dealer poin listance of above 25 km & g 50 km – Item No. 8.1.4 e of work of Annexure- VI	t not	32,500	16.5	5,36,250.00		
5	Godowi within a d exceeding	ortation from Rail Heads to ns/stock point/Dealer poin istance of above 50 km & 100 km – Item No. 8.1. of work of Annexure- VI	t not	32,500	10	3,25,000.00		
RPD.	BY:					49		
rar	nsport Serv		ISERS AND (ANCORE LI		FA	ACT		

		SERS AND (ANCORE LIN	CHEMICALS	FA	CT
RPD.	BY:				50
	Bidders quoting for Renigunta RH shall Mark "Y" against blank cell provided below total estimated amount		ed Excess or ed in percent		
	Total estimated				1,67,44,750.00
15	Stenciling on Bags at FACT ASC/Warehouse – Item No.8.1.12 o scope of work of Annexure-VI		2,000	100	2,00,000.00
14	Rebagging / standardisation at FACT ASC / Warehouse – Item No.8.1.11 of scope of work of Annexure VI.		1,000	200	2,00,000.00
13	Unloading of bagged products at FAC ASC/Warehouse-Item No.8.1.10 of scope of work of Annexure-VI		10,000	75	7,50,000.00
12	Loading of bagged products at FACT ASC/Warehouse- Item No. 8.1.9 of scope of work of Annexure-VI.		10,000	70	7,00,000.00
11	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 150 km 8 not exceeding 200 km – Item No. 8.1.7 of scope of work of Annexure-		87,500	7.4	6,47,500.00
10	Transportation from RENIGUNTA Rai Head to AWAZE CUDAPPA/Storage Point - 140 KMS		2,50,000	8	20,00,000.00
9	Transportation from RENIGUNTA Rai Head to SWC Nellore/Storage Point 150 KMS	-	2,50,000	8	20,00,000.00
8	Transportation from RENIGUNTA Rai Head to AWAZE Nellore/Storage Poir - 150 KMS		2,50,000	8	20,00,000.00
7	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 100 km 8 not exceeding 150 km – Item No. 8.1.6 of scope of work of Annexure-		62,500	8	5,00,000.00
6	Transportation from RENIGUNTA Rai Head to SWC Chittoor /Storage Point 80 KMS		2,75,000	10	27,50,000.00

		10. 0	NGOLE R	Н				
SI No.	Items o	Items of work		Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amount for item in Rs.		
1	Clearing & Allied Works - Item No. MT 85,000 8.1.1. of scope of work of Annexure-VI.	-	-	8.1.1. of scope of work of Annexure-VI.	5	85,000	119	1,01,15,000.0
2	Transportation fro Godowns/stock p within a distance of No. 8.1.2 of sc Annext	oint/Dealer point Up to 15kmItem ope of work of	MT	30,000	180	54,00,000.00		
3	Transportation fro Godowns/stock p within a distance exceeding 25 km scope of work c	oint/Dealer point of above 15 & not - Item No. 8.1.3 of	МТК	50,000	12	6,00,000.00		
4	Transportation from Godowns/stock p within a distance of exceeding 50 km scope of work c	oint/Dealer point above 25 km & not - Item No. 8.1.4 of	МТК	2,00,000	12	24,00,000.00		
5	Transportation from Godowns/stock p within a distance of exceeding 100 km scope of work c	МТК	2,00,000	6	12,00,000.00			
6	Transportation from to AWAZE CHIRALA KM	/Storage Point - 60	МТК	1,00,000	6	6,00,000.00		
7	Transportation from to AWAZE NARAS Point - 1	AROPET /Storage	МТК	2,00,000	6	12,00,000.00		
8	Transportation fro Godowns/stock p within a distance of not exceeding 15 8.1.6 of scope of wo	МТК	2,25,000	4	9,00,000.00			
PRPD. B	v.		<u> </u>			51		
\sim	- K	FERTILISERS			FAC	CT		
rans	sport Pervices	TRAVANCO						

to AW 10 Transpo to SWC 11 Transpo to AW 12 Transpo to SWC 13 Transpo to SWC 13 Transpo to SWC 13 ASC/V scop	tation from ONGC AZE NELLORE/Sto 140 KMS tation from ONGC NELLORE/Storage KMS tation from ONGC AZE GUNTUR/Stor 130 KMS tation from ONGC THADEPALLI GUN Point - 150 KM tation from ONGC o AWAZE YERRAE UR/Storage Point portation from Rai vns/stock point/De a distance of abov ceeding 200 km scope of work of A g of bagged produ	DLE Rail Hea e Point - 140 DLE Rail Hea rage Point - DLE Rail Hea rage Point - DLE Rail Hea ITUR/Storag IS DLE Rail Hea SALEM - 150 KMS il Heads to ealer point re 150 km & - Item No.	d MTK d MTK d MTK d MTK d MTK	2,00,000 2,00,000 2,00,000 2,00,000 2,00,000 1,75,000	4 4 4 4 4 4 2	8,00,000.00 8,00,000.00 8,00,000.00 8,00,000.00 8,00,000.00 3,50,000.00
to AW 10 Transpo to SWC 11 Transpo to AW 12 Transpo to SWC 13 Transpo to SWC 13 Transpo to SWC 14 Trans Godor within not ex 8.1.7 of 15 Loadin ASC/V scop	AZE NELLORE/Sto 140 KMS tation from ONGC NELLORE/Storage KMS tation from ONGC AZE GUNTUR/Stor 130 KMS tation from ONGC THADEPALLI GUN Point - 150 KM tation from ONGC O AWAZE YERRAE UR/Storage Point portation from Rai wns/stock point/De a distance of abov ceeding 200 km scope of work of A g of bagged produ	DLE Rail Hea e Point - 140 DLE Rail Hea rage Point - DLE Rail Hea rage Point - DLE Rail Hea ITUR/Storag IS DLE Rail Hea SALEM - 150 KMS il Heads to ealer point re 150 km & - Item No.	d MTK d MTK d MTK d MTK d MTK	2,00,000 2,00,000 2,00,000 2,00,000	4 4 4 4 4	8,00,000.00 8,00,000.00 8,00,000.00 8,00,000.00
to SWC 11 Transpo to AW 12 Transpo to SWC 13 Transpo 13 Transpo 14 Trans GUNT 14 Trans Godor within not ex 8.1.7 of 15 Loadin ASC/V scop	NELLORE/Storage KMS tation from ONGC AZE GUNTUR/Stor 130 KMS tation from ONGC THADEPALLI GUN Point - 150 KM tation from ONGC AWAZE YERRAE UR/Storage Point portation from Rai vns/stock point/Do a distance of abov ceeding 200 km scope of work of a g of bagged produ	e Point - 140 DLE Rail Hea rage Point - DLE Rail Hea ITUR/Storag IS DLE Rail Hea SALEM - 150 KMS il Heads to ealer point re 150 km & - Item No.	0 d MTK d MTK d MTK	2,00,000 2,00,000 2,00,000	4 4 4	8,00,000.00 8,00,000.00 8,00,000.00
to AW 12 Transpo to SWC 13 Transpo t GUNT 14 Trans Godo within not ex 8.1.7 of 15 Loadin ASC/V scop	AZE GUNTUR/Stor 130 KMS tation from ONGC THADEPALLI GUN Point - 150 KM tation from ONGC o AWAZE YERRAE UR/Storage Point portation from Rai vns/stock point/Do a distance of abov ceeding 200 km scope of work of a g of bagged produ	rage Point - DLE Rail Hea ITUR/Storag IS DLE Rail Hea BALEM - 150 KMS il Heads to ealer point re 150 km & - Item No.	d MTK e MTK d MTK	2,00,000	4	8,00,000.00
to SWC 13 Transpo t GUNT 14 Trans Godo within not ex 8.1.7 of 15 Loadin ASC/V scop	THADEPALLI GUN Point - 150 KM tation from ONGC o AWAZE YERRAE UR/Storage Point portation from Rai wns/stock point/Do a distance of abov ceeding 200 km scope of work of a g of bagged produ	ITUR/Storag IS DLE Rail Hea BALEM - 150 KMS il Heads to ealer point re 150 km & - Item No.	e MTK	2,00,000	4	8,00,000.00
14 Trans Godo within not ex 8.1.7 of 15 Loadin ASC/V scop	D AWAZE YERRAE UR/Storage Point portation from Rai wns/stock point/De a distance of abov ceeding 200 km scope of work of a g of bagged produ	BALEM - 150 KMS il Heads to ealer point /e 150 km & - Item No.	МТК			
Godov within not ex 8.1.7 of 15 Loadin ASC/V scop	wns/stock point/De a distance of abov ceeding 200 km scope of work of a g of bagged produ	ealer point ve 150 km & – Item No.		1,75,000	2	3.50.000.00
ASC/V scoj			′I			
4.6	e of work of Anne	No. 8.1.9 of	MT	25,000	60	15,00,000.00
ASC/V	ng of bagged prod Varehouse-Item N De of work of Ann	o.8.1.10 of	T MT	25,000	76	19,00,000.00
ASC / V	Rebagging / standardisation at FACTMT2,000150ASC / Warehouse - Item No.8.1.11 of scope of work of Annexure VI.MT2,000150		150	3,00,000.00		
ASC/W	enciling on Bags a arehouse – Item N pe of work of Anne	No.8.1.12 of	MT	3,000	75	2,25,000.00
	Tota	al estimated	Amount(IN	R):		3,06,90,000.00
shall I cell	quoting for Ong Jark "Y" against provided below stimated amour	t blank total		d Excess or d in percent		

		11. THIMMA	PUR RH		
SI No.	Items of work	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amount for item in Rs.
1	Clearing & Allied Works - Item No. 8.1.1. of scope of work of Annexure-VI.	MT	30,000	179.00	53,70,000.00
2	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of Up to 15km Item No. 8.1.2 of scope of work of Annexure-VI.	МТ	18,000	110.00	19,80,000.00
3	Transportation from Rail Heads to Godown/stock poinrts/Dealer points within a Radius of 1 to 15km (Applicable to places within a radius of 11 to 15 KMs – Item No. 8.1.3 of scope of work of Annexure- VI	МТК	25,000	24.00	6,00,000.00
4	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 25 km & not exceeding 50 km – Item No. 8.1.5 of scope of work of Annexure- VI		38,000	16.00	6,08,000.00
5	Transportation from Thimapur RH to Awaze Moosapet /Storage Point - 46 KMS	МТК	46,000	16.00	7,36,000.00
6	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 50 km & not exceeding 100 km – Item No. 8.1.6 of scope of work of Annexure- VI		1,52,000	9.30	14,13,600.00
RPD. BY					5
ransp	Fort Services	ERTILISERS A		LS	ACT

	ORATE RIALS	(fertiliz	, handling and transportation of bagged products ers, gypsum or other materials) at various Rail ads (RH) in Andhra Pradesh & Telangana							
7	Transportation Thimapur RH to J Jadcherla /Storage 55 KMS		waze	МТК	55,000	9.80	5,39,000.00			
8	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 100 km & not exceeding 150 km – Item No. 8.1.7 of scope of work of Annexure- VI			МТК	2,52,000	8.00	20,16,000.00			
9	Transportation from Thimapur RH to Awaze Gajwel /Storage Point - 125 KMS Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 150 km & not exceeding 200 km - Item No. 8.1.8 of scope of work of Annexure- VI		waze	МТК	2,50,000	8.00	20,00,000.00			
10			Heads to Godo point/Dealer po distance of abo & not exceedir – Item No. 8.1	s/stock within a 150 km 200 km f scope	МТК	1,76,000	4.75	8,36,000.00		
11	pro ASC/V No. 8	Loading of bagged products at FACT ASC/Warehouse- Item No. 8.1.10 of scope of work of Annexure-VI.		МТ	21,000	75.00	15,75,000.00			
12	Unloading of bagged products at FACT ASC/Warehouse-Item No.8.1.11 of scope of work of Annexure-VI			МТ	21,000	80.00	16,80,000.00			
13	Rebagging / standardisation at FACT ASC / Warehouse – Item No.8.1.12 of scope of work of Annexure VI. Stenciling on Bags at FACT ASC/Warehouse – Item No.8.1.13 of scope of work of Annexure-VI		: FACT – Item pe of	МТ	1,000	150.00	1,50,000.00			
14			· Item pe of	MT	1,000	75.00	75,000.00			
			Total est	imated Amou	unt(INR):		1,95,78,600.00			
PD. BY	ortServ			RTILISERS /	AND CHEMICAL	.s	54 FACT			

Clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana

Bidders quoting for Mandapeta RH shall Mark "Y" against blank cell provided below total estimated amount

"Selected Excess or less and Quoted in percentage "

SI No.	Items of work	Items of work Unit Quantity (UoM) in UoM			
1	Clearing & Allied Works - Item No. 8.1.1. of scope of work of Annexure-VI.	8.1.1. of scope of work of MT 20,000	20,000	140.00	28,00,000.00
2	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of Up to 15km Item No. 8.1.2 of scope of work of Annexure-VI.	МТ	14,000	130.00	18,20,000.00
3	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 15 & not exceeding 25 km – Item No. 8.1.4 of scope of work of Annexure- VI	МТК	40,000	21.25	8,50,000.00
4	Transportation from Rail Heads to Godowns/stock point/Dealer point ithin a distance of above 25 km & not exceeding 50 km – Item No. 1.5 of scope of work of Annexure- VI	32,400	11.50	3,72,600.00	
5	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 50 km & not exceeding 100 km – Item No. 8.1.6 of scope of work of Annexure- VI	МТК	1,52,000	8.35	12,69,200.00
6	Transportation from Gajwel RH to Awaze Kamareddy /Storage Point - 76 KMS	МТК	1,52,000	8.35	12,69,200.00
RPD. BY:					55
ranspo	rt ervices FERTILISE	RS AND CH CORE LIMI		FAC	Т

CORPC	FACTClearing, handling and transportation of bagged product (fertilizers, gypsum or other materials) at various Rail TERIALSTERIALSHeads (RH) in Andhra Pradesh & Telangana				Rail		ENQUIRY .MM/180/E28527 ated.18.11.2023	
7		e Medak /S	rom Gajwel RH to torage Point - 72 MS	МТК	76,000	9.	75	7,41,000.00
8	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 100 km & not exceeding 150 km – Item No. 8.1.7 of scope of work of Annexure- VI			МТК	1,26,000	5.	20	6,55,200.00
9		Transportation from Gajwel RH to Awaze Nizamabad /Storage Point - 135 KMS			67,500	5.	20	3,51,000.00
10	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 150 km & not exceeding 200 km – Item No. 8.1.8 of scope of work of Annexure- VI			МТК	88,000	5.	00	4,40,000.00
11	ASC/W	Loading of bagged products at FACT ASC/Warehouse- Item No. 8.1.10 of scope of work of Annexure-VI.			14,000	80	.00	11,20,000.0
12	FA	Unloading of bagged products at FACT ASC/Warehouse-Item No.8.1.11 of scope of work of Annexure-VI			14,000	70	.00	9,80,000.00
13	ASC /	Rebagging / standardisation at FACT ASC / Warehouse – Item No.8.1.12 of scope of work of Annexure VI.			500	175	5.00	87,500.00
14	Stenciling on Bags at FACT ASC/Warehouse – Item No.8.1.13 of scope of work of Annexure-VI			MT	1,000	75	.00	75,000.00
			Total estimated	Amount(I	NR):	1		1,28,30,700.0
	RH sh	all Mark " ell provided	y for Mandapeta Y" against blank I below total d amount		ected Excess or less and uoted in percentage "			
PD. BY:	RH sh	all Mark " ell provided	Y" against blank below total					56
ranspo	ort Serv	rices	FERTILISER TRAVANC				FAC	T

		JADCHERL	A RH Quantity	Estimated	Estimated
SI No.	Items of work	(UoM)	in UoM	Rate (Rs/UoM)	Amount for item in Rs.
1	Clearing & Allied Works - Item No. 8.1.1. of scope of work of Annexure-VI.	МТ	20,000	120.00	24,00,000.00
2	Transportation from Rail Heads t Godowns/stock point/Dealer poin within a distance of Up to 15km. Item No. 8.1.2 of scope of work of Annexure-VI.	nt - MT	14,000	105.00	14,70,000.00
3	Transportation from Rail Heads t Godowns/stock point/Dealer poin within a distance of above 25 kr & not exceeding 50 km – Item No. 8.1.5 of scope of work of Annexure- VI	nt MTK	38,000	10.80	4,10,400.00
4	Transportation from Jadcherla R to DP World Thimapur /Storage Point - 50 KMS		1,00,000	10.80	10,80,000.00
5	Transportation from Rail Heads t Godowns/stock point/Dealer poin within a distance of above 50 kr & not exceeding 100 km – Iter No. 8.1.6 of scope of work of Annexure- VI	nt _{MTK}	3,04,000	8.85	26,90,400.00
6	Transportation from Rail Heads t Godowns/stock point/Dealer poin within a distance of above 100 km & not exceeding 150 km – Item No. 8.1.7 of scope of work of Annexure- VI	nt MTK	2,52,000	7.15	18,01,800.00
7	Loading of bagged products at FACT ASC/Warehouse- Item No 8.1.10 of scope of work of Annexure-VI.		14,000	58.00	8,12,000.00
8	Unloading of bagged products a FACT ASC/Warehouse-Item No.8.1.11 of scope of work of Annexure-VI	мт	14,000	75.00	10,50,000.00
RPD. BY:					57
ranspo	2	ISERS AND ANCORE L	CHEMICALS IMITED	FA	ACT

FAC CORPO MATEF	RATE	Clearing, handling and tra (fertilizers, gypsum or ot Heads (RH) in Andhi	her mate	rials) at vario	ENQUIRY No.MM/180/E28527 Dated.18.11.2023	
9	FACT	ngging / standardisation at FASC / Warehouse – Item 3.1.12 of scope of work of Annexure VI.	МТ	1,000	90.00	90,000.00
10	ASC/W	enciling on Bags at FACT /arehouse – Item No.8.1.13 ope of work of Annexure-VI	МТ	1,000	60.00	60,000.00
		Total estimated	l Amount	(INR):	1,18,64,600.00	
	Mand agai	Bidders quoting for lapeta RH shall Mark "Y" inst blank cell provided v total estimated amount	"Selected Excess or less and Quoted in percentage "			

SI No.	Items of work	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amount for item in Rs.
1	Clearing & Allied Works - Item No. 8.1.1. of scope of work of Annexure- VI.	МТ	75,000	90.00	67,50,000.00
2	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of Up to 15km Item No. 8.1.2 of scope of work of Annexure-VI.	МТ	45,000	95.00	42,75,000.00
3	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 25 km & not exceeding 50 km – Item No. 8.1.5 of scope of work of Annexure- VI	МТК	76,000	8.90	6,76,400.00
4	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 50 km & not exceeding 100 km – Item No. 8.1.6 of scope of work of Annexure- VI	МТК	1,14,000	5.90	6,72,600.00
5	Transportation from Gadwal RH to Awaze Jadcherla /Storage Point - 100 KMS	МТК	1,00,000	5.90	5,90,000.00
	·				7 0
RPD. BY:					58
ranspo	ort ervices FERTILISERS	-		FAC7	

FA CORPC MATE	ORATE	Clearing, handling and transpo (fertilizers, gypsum or other Heads (RH) in Andhra P	materials) a	at various Ra	No.M	ENQUIRY M/180/E28527 ed.18.11.2023
6	Godo within not e 8.1.7	sportation from Rail Heads to wns/stock point/Dealer point a distance of above 100 km & xceeding 150 km – Item No. of scope of work of Annexure- VI	МТК	1,26,000	4.80	6,04,800.00
7	Godo within not ex	sportation from Rail Heads to wns/stock point/Dealer point a distance of above 150 km & xceeding 200 km – Item No. of scope of work of Annexure- VI	МТК	63,000	3.10	1,95,300.00
8	ASC/V sco	ng of bagged products at FACT Varehouse- Item No. 8.1.10 of pe of work of Annexure-VI.	MT	45,000	58.00	26,10,000.00
8	F/	ading of bagged products at ACT ASC/Warehouse-Item .8.1.11 of scope of work of Annexure-VI	MT	45,000	75.00	33,75,000.00
9	ASC / of so	ging / standardisation at FACT Warehouse – Item No.8.1.12 cope of work of Annexure VI.	MT	2,000	90.00	1,80,000.00
10	ASC/V	tenciling on Bags at FACT Varehouse – Item No.8.1.13 of ope of work of Annexure-VI	МТ	4,000	60.00	2,40,000.00
	RH sl	Total estimated A ers quoting for Mandapeta nall Mark "Y" against blank ell provided below total estimated amount	"Selecte	d Excess or d in percen		2,01,69,100.00
		15. KAM		RH		
SI No.		Items of work	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amount for item in Rs.
1	8.1.1.	ring & Allied Works - Item No. of scope of work of Annexure- VI.	MT	30,000	100.00	30,00,000.00
2	Godo within No	sportation from Rail Heads to owns/stock point/Dealer point a distance of Up to 15kmItem b. 8.1.2 of scope of work of Annexure-VI.	МТ	16,000	109.00	17,44,000.00
3	Gode withi not	sportation from Rail Heads to owns/stock point/Dealer point n a distance of above 25 km & exceeding 50 km – Item No. of scope of work of Annexure- VI	МТК	38,000	12.00	4,56,000.00

PRPD. BY: ransport Services
FERTILISERS AND CHEMICALS
TRAVANCORE LIMITED
FACT

59

Clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana

ENQUIRY No.MM/180/E28527 Dated.18.11.2023

>	ort ervices FERTILISERS			FACT	
PD. BY:					60
	Bidders quoting for Mandapeta RH shall Mark "Y" against blank cell provided below total estimated amount		"Selected Excess or less and Quoted in percentage "		
	Total estimated A	\mount(IN	R):		1,71,97,650.
15	Stenciling on Bags at FACT ASC/Warehouse – Item No.8.1.13 of scope of work of Annexure-VI	MT	1,000	70.00	70,000.00
14	Rebagging / standardisation at FACT ASC / Warehouse – Item No.8.1.12 of scope of work of Annexure VI.	MT	1,000	150.00	1,50,000.0
13	Unloading of bagged products at FACT ASC/Warehouse-Item No.8.1.11 of scope of work of Annexure-VI	MT	16,000	75.00	12,00,000.0
12	Loading of bagged products at FACT ASC/Warehouse- Item No. 8.1.10 of scope of work of Annexure-VI.	MT	16,000	64.00	10,24,000.0
11	Transportation from Kamareddy RH to Awaze Adilabad/Storage Point - 188 MTK 3,76,000 KMS		5.40	20,30,400.0	
10	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 150 km & not exceeding 200 km – Item No. 8.1.8 of scope of work of Annexure- VI	МТК	1,75,500	5.40	9,47,700.0
9	Transportation from Kamareddy RH to Awaze Nirmal/Storage Point - 105 KMS	МТК	2,10,000	6.10	12,81,000.0
8	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 100 km & not exceeding 150 km – Item No. 8.1.7 of scope of work of Annexure- VI	МТК	1,25,500	6.10	7,65,550.0
7	Transportation from Kamareddy RH to Awaze Nizamabad/Storage Point - 65 KMS	МТК	1,30,000	7.00	9,10,000.0
6	Transportation from Kamareddy RH to Awaze Gajwel /Storage Point - 78 KMS	МТК	2,34,000	7.00	16,38,000.0
5	Transportation from kamareddy RH to Awaze Medak /Storage Point - 55 KMS	МТК	55,000	7.00	3,85,000.0
4	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 50 km & MTK not exceeding 100 km – Item No. 8.1.6 of scope of work of Annexure- VI		2,28,000	7.00	15,96,000.0

Clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana ENQUIRY No.MM/180/E28527 Dated.18.11.2023

SI No.	Items of work	Unit Q (UoM) i		Estimated Rate (Rs/UoM)	Estimated Amount fo item in Rs
1	Clearing & Allied Works - Item No. 8.1.1. of scope of work of Annexure- VI.	МТ	20,000	148.00	29,60,000.00
2	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of Up to 15km Item No. 8.1.2 of scope of work of Annexure-VI.	MT	14,000	90.00	12,60,000.00
3	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 25 km & not exceeding 50 km – Item No. 8.1.5 of scope of work of Annexure- VI	МТК	38,000	9.00	3,42,000.00
4	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 50 km & not exceeding 100 km – Item No. 8.1.6 of scope of work of Annexure- VI	МТК	76,000	5.80	4,40,800.00
5	Transportation from Nizamabad RH to Awaze Kamareddy/Storage Point - 65 KMS	МТК	1,30,000	5.80	7,54,000.00
6	Transportation from Nizamabad RH to Awaze Nirmal/Storage Point - 70 KMS	МТК	1,40,000	5.80	8,12,000.00
7	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 100 km & not exceeding 150 km – Item No. 8.1.7 of scope of work of Annexure- VI	МТК	1,26,000	4.50	5,67,000.00
8	Transportation from Nizamabad RH to Awaze Adilabad/Storage Point - 70 KMS	МТК	4,50,000	4.50	20,25,000.00
9	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 150 km & not exceeding 200 km – Item No. 8.1.8 of scope of work of Annexure- VI	МТК	1,76,000	4.00	7,04,000.00
10	Loading of bagged products at FACT ASC/Warehouse– Item No. 8.1.10 of scope of work of Annexure-VI.	МТ	14,000	60.00	8,40,000.00
11	Unloading of bagged products at FACT ASC/Warehouse-Item No.8.1.11	MT	14,000	65.00	9,10,000.00
RPD. BY:					61
ranspo	ort ervices FERTILISERS	S AND CHEN DRE LIMITE	1 X	FACT	

ENQUIRY
No.MM/180/E28527
Dated.18.11.2023

		l			
	of scope of work of Annexure-VI				
12	Rebagging / standardisation at FACT ASC / Warehouse – Item No.8.1.12 of scope of work of Annexure VI.	MT	1,000	140.00	1,40,000.00
13	Stenciling on Bags at FACT ASC/Warehouse – Item No.8.1.13 of scope of work of Annexure-VI	MT	1,000	100.00	1,00,000.00
	Total estimated		1,18,54,800.00		
	Bidders quoting for Mandapeta RH shall Mark "Y" against blank cell provided below total estimated amount		d Excess o ed in percei		

	17. N	IANCHERIA	AL RH		
SI No.	Items of work	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amount for item in Rs.
1	Clearing & Allied Works - Item No. 8.1.1. of scope of work of Annexure-VI.	MT	20,000	154.00	30,80,000.00
2	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of Up to 15km Item No. 8.1.2 of scope of work of Annexure-VI.	MT	10,000	160.00	16,00,000.00
3	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 15 & not exceeding 25 km – Item No. 8.1.4 of scope of work of Annexure- VI	МТК	1,00,000	19.00	19,00,000.00
4	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 25 km & not exceeding 50 km – Item No. 8.1.5 of scope of work of Annexure- VI	МТК	1,50,000	15.40	23,10,000.00
5	Transportation from Mancherial RH to Awaze Pedapalli/Storage Point - 50 KMS	МТК	1,00,000	15.40	15,40,000.00
RPD. BY:	L		1		62
			I		02
ranspo		RS AND CH CORE LIMI1		FACT	

	CT DRATE RIALS	(fertiliz	ers, gypsum or othe	er materials) at various Rail a Pradesh & Telangana ENQUIRY No.MM/180/E2852 Dated.18.11.2023						
6	Transportation from Ra Godowns/stock point/D within a distance of abornot exceeding 100 km 8.1.6 of scope of work o VI		ooint/Dealer point of above 50 km &)0 km – Item No. work of Annexure-	МТК	5,00,000	9	.25	46,25,000.0		
7		aze Jagtial/	om Mancherial RH Storage Point - 74 MS	МТК	1,50,000	9	.25	13,87,500.0		
8		aze Karimna	om Mancherial RH agar/Storage Point KMS	МТК	2,00,000	9	.25	18,50,000.0		
9	Godo within not ex	wns/stock p a distance (ceeding 1) of scope of	rom Rail Heads to point/Dealer point of above 100 km & 50 km – Item No. work of Annexure- /I	МТК	5,00,000	7.80		7.80 39,00,0		39,00,000.0
10	Godo within not ex	wns/stock p a distance (ceeding 20 of scope of	rom Rail Heads to point/Dealer point of above 150 km & 00 km – Item No. work of Annexure- /I	МТК	1,50,000	7.00		10,50,000.0		
11	ASC/W	/arehouse-	d products at FACT Item No. 8.1.10 of of Annexure-VI.	МТ	17,000	94.00		15,98,000.0		
12	FÆ	ACT ASC/Wa 8.1.11 of se	gged products at arehouse-Item cope of work of cure-VI	MT	17,000	94.00		15,98,000.0		
13	ASC /	Warehouse	lardisation at FACT – Item No.8.1.12 c of Annexure VI.	МТ	1,000	200.00		2,00,000.00		
14	ASC/W	/arehouse -	Bags at FACT Item No.8.1.13 of of Annexure-VI	МТ	3,000	80.00		2,40,000.00		
			Total estimated	Amount(I	NR):			2,68,78,500.0		
	RH sł	all Mark " ell provide	g for Mandapeta Y" against blank d below total d amount		ted Excess o ted in percer					
PD. BY:							·	63		
ranspo	ortSer	vices	FERTILISER TRAVANC				FAC	Γ		

l No.	Items of work	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amount for item in Rs.
1	Clearing & Allied Works - Item No. 8.1.1. of scope of work of Annexure-VI.	МТ	25,000	133.00	33,25,000.00
2	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of Up to 15kmItem No. 8.1.2 of scope of work of Annexure-VI.	МТ	8,000	115.00	9,20,000.00
3	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 15 & not exceeding 25 km – Item No. 8.1.4 of scope of work of Annexure- VI	мтк	60,000	20.00	12,00,000.00
4	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 25 km & not exceeding 50 km – Item No. 8.1.5 of scope of work of Annexure- VI	МТК	35,000	13.50	4,72,500.00
5	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 50 km & not exceeding 100 km – Item No. 8.1.6 of scope of work of Annexure- VI	МТК	4,00,000	9.00	36,00,000.00
6	Transportation from Karimnagar RH to Awaze Suryapet/Storage Point - 60 KMS	МТК	3,50,000	9.00	31,50,000.00
7	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 100 km & not exceeding 150 km – Item No. 8.1.7 of scope of work of Annexure- VI	МТК	2,00,000	7.00	14,00,000.00
RPD. BY:		1	1	1	64
ranspo	3	ERS AND	CHEMICALS	FA	CT

FACT
CORPORATE
MATERIALS

	Bidders quoting for Mandapeta RH shall Mark "Y" against blank cell provided below total estimated amount		ed Excess o ed in percer		
	Total estimated	d Amount(INR):	1,71,87,000.00	
12	12 Stenciling on Bags at FACT ASC/Warehouse – Item No.8.1.13 of scope of work of Annexure-VI		3,000	70.00	2,10,000.00
11	Rebagging / standardisation at FACT ASC / Warehouse – Item No.8.1.12 of scope of work of Annexure VI.	MT	1,500	175.00	2,62,500.00
10	Unloading of bagged products at FACT ASC/Warehouse-Item No.8.1.11 of scope of work of Annexure-VI	MT	14,000	79.00	11,06,000.00
9	Loading of bagged products at FACT ASC/Warehouse- Item No. 8.1.10 of scope of work of Annexure-VI.	MT	14,000	79.00	11,06,000.00
8	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 150 km & not exceeding 200 km – Item No. 8.1.8 of scope of work of Annexure- VI	МТК	75,000	5.80	4,35,000.00

19.WARANGAL RH							
SI No.	Items of work	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amount for item in Rs.		
1	Clearing & Allied Works - Item No. 8.1.1. of scope of work of Annexure-VI.	МТ	84,000	147.00	1,23,48,000.00		

F			
PRPD. BY:			65
Transport Services	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

ranspo	3	LISERS AND (VANCORE LIN		FAC	T
PD. BY:					66
9	Unloading of bagged products FACT ASC/Warehouse-Item No.8.1.11 of scope of work o Annexure-VI	мт	67,000	84.00	56,28,000.00
8	Loading of bagged products a FACT ASC/Warehouse- Item N 8.1.10 of scope of work of Annexure-VI.		67,000	62.00	41,54,000.00
7	Transportation from Rail Heads Godowns/stock point/Dealer po within a distance of above 150 & not exceeding 200 km – Ite No. 8.1.8 of scope of work of Annexure- VI	int km _{мтк} em	1,50,000	4.95	7,42,500.00
6	Transportation from Rail Heads Godowns/stock point/Dealer po within a distance of above 100 & not exceeding 150 km – Ite No. 8.1.7 of scope of work of Annexure- VI	int km _{мтк} ет	5,00,000	6.10	30,50,000.00
5	Transportation from Rail Heads Godowns/stock point/Dealer po within a distance of above 50 k & not exceeding 100 km – Ite No. 8.1.6 of scope of work of Annexure- VI	int xm MTK xm	12,50,000	7.80	97,50,000.00
4	Transportation from Rail Heads Godowns/stock point/Dealer po within a distance of above 25 k & not exceeding 50 km – Iter No. 8.1.5 of scope of work of Annexure- VI	int xm мтк m	1,50,000	11.60	17,40,000.00
3	Transportation from Rail Heads Godowns/stock point/Dealer po within a distance of above 15 not exceeding 25 km – Item N 8.1.4 of scope of work of Annexure- VI	int & _{MTK}	4,10,000	13.50	55,35,000.00
2	Transportation from Rail Heads Godowns/stock point/Dealer po within a distance of Up to 15km Item No. 8.1.2 of scope of work Annexure-VI.	int 1 MT	38,000	113.00	42,94,000.00

FACT CORPORATE MATERIALSClearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & TelanganaENQUI No.MM/180/ Dated.18.1	/E28527
---	---------

Т

	Bidders quoting for Mandapeta RH shall Mark "Y" against blank cell provided below total estimated amount		ed Excess or ed in percent		
	Total estimate	d Amount(I	NR):		4,82,66,500.00
11	Stenciling on Bags at FACT ASC/Warehouse – Item No.8.1.13 of scope of work of Annexure-VI	MT	5,000	55.00	2,75,000.00
10	10 Rebagging / standardisation at FACT ASC / Warehouse – Item No.8.1.12 of scope of work of Annexure VI.		5,000	150.00	7,50,000.00

20. KHAMMAM RH							
SI No.	Items of work	Unit (UoM)	Quantity in UoM	Estimated Rate (Rs/UoM)	Estimated Amount for item in Rs.		
1	Clearing & Allied Works - Item No. 8.1.1. of scope of work of Annexure-VI.	МТ	1,20,000	140.00	1,68,00,000.00		
2	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of Up to 15kmItem No. 8.1.2 of scope of work of Annexure-VI.	МТ	80,000	156.00	1,24,80,000.00		
3 Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 15 & not exceeding 25 km – Item No. 8.1.4 of scope of work of Annexure- VI		МТК	50,000	12.50	6,25,000.00		
4	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 25 km & not exceeding 50 km – Item No. 8.1.5 of scope of work of Annexure- VI	МТК	1,50,000	12.30	18,45,000.00		

Transport Services FERTILISERS AND CHEMICALS FACT	PRPD. BY:		67
	Transport Pervices	FACT	

CORPORATE (fertiliz		handling and tra ers, gypsum or o ds (RH) in Andr	s Rail	ENQUIRY No.MM/180/E28527 Dated.18.11.2023			
5	to Go point 50 l km	downs/stoo within a dis <m &="" ex<="" not="" th=""><th>rom Rail Heads k point/Dealer stance of above ceeding 100 8.1.6 of scope inexure- VI</th><th>МТК</th><th>18,00,000</th><th>8.20</th><th>1,47,60,000.00</th></m>	rom Rail Heads k point/Dealer stance of above ceeding 100 8.1.6 of scope inexure- VI	МТК	18,00,000	8.20	1,47,60,000.00
6			om Khammam yapet/Storage 2 KMS	МТК	1,80,000	8.20	14,76,000.00
7	Transportation from Khammam RH to Awaze Miriyalguda/Storage Point - 90 KMS			МТК	1,00,000	8.20	8,20,000.00
8	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 100 km & not exceeding 150 km – Item No. 8.1.7 of scope of work of Annexure- VI			МТК	6,00,000	6.20	37,20,000.00
9	to Go point 150 km	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 150 km & not exceeding 200 km – Item No. 8.1.8 of scope of work of Annexure- VI			1,50,000	5.10	7,65,000.00
10	FAC	Loading of bagged products at FACT ASC/Warehouse- Item No. 8.1.10 of scope of work of Annexure-VI.			90,000	89.00	80,10,000.00
11	at F/	Unloading of bagged products at FACT ASC/Warehouse-Item No.8.1.11 of scope of work of Annexure-VI			90,000	89.00	80,10,000.00
12	Rebagging / standardisation at FACT ASC / Warehouse – Item No.8.1.12 of scope of work of Annexure VI.			МТ	5,000	100.00	5,00,000.00
PD. BY:							68
ranspor	Serv	vices		SERS AND) CHEMICALS LIMITED		FACT

CORPORATE (fertiliz			andling and trans, gypsum or ot (RH) in Andhr	her mate	rials) at various	Rail		ENQUIRY .MM/180/E28527 ated.18.11.2023
13	A	enciling on Bag SC/Warehous 3.1.13 of scope Annexure	e – Item e of work of	MT		5,000	70.0	0.00 3,50,00	
	Total estimate Bidders quoting for Mandapeta RH shall Mark "Y" against blank cell provided below total estimated amount			"Sele	cted	NR): I Excess or I in percent		d	7,01,61,000.00
			20.	KARIMN	AGA	AR RH			
SI No.	Items of work		Uni (Uol	-	Quantity in UoM	Estim Rat (Rs/L	te	Estimated Amount for item in Rs.	
1	Clearing & Allied Works - Item No. 8.1.1. of scope of work of Annexure VI.				-	55,000	134	.00	73,70,000.00
2	Godo withi	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of Up to 15km Item No. 8.1.2 of scope of work of Annexure-VI.			-	27,000	170.	.00	45,90,000.00
3	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 15 & not exceeding 25 km – Item No. 8.1.4 of scope of work of Annexure- VI			:)t мтн 4	к	50,000	19.	25	9,62,500.00
4	Transportation from Rail Heads to Godowns/stock point/Dealer point within a distance of above 25 km & not exceeding 50 km – Item No. 8.1.5 of scope of work of Annexure- VI			: & мтн	ĸ	1,50,000	12.0	00	18,00,000.00
5	Transportation from Karimnagar RH to Awaze Pedapalli/Storage Point - 40 KMS				к	2,00,000	12.	00	24,00,000.00
RPD. BY:									69
ransport Services			FERTILISE TRAVAN	ERS AND NCORE L				FAC	T

ranspo	rtServices	FERTILISERS TRAVANCO			FAC	
PD. BY:						70
		Total estimated	Amount(I	NR):		4,03,87,500.0
14	Stenciling on Bags at FACT ASC/Warehouse – Item No.8.1.13 of scope of work of Annexure-VI		MT	5,000	75.00	3,75,000.00
13	Rebagging / standardisation at FACT ASC / Warehouse – Item No.8.1.12 of scope of work of Annexure VI.		MT	3,000	175.00	5,25,000.00
12	Unloading of ba FACT ASC/W No.8.1.11 of s Anne	MT	45,000	70.00	31,50,000.00	
11	Loading of bagge ASC/Warehouse- scope of work	MT	45,000	70.00	31,50,000.00	
10	Transportation f Godowns/stock within a distance not exceeding 2 8.1.8 of scope of	МТК	1,50,000	6.30	9,45,000.00	
9	Transportation f Godowns/stock within a distance not exceeding 1 8.1.7 of scope of	МТК	6,00,000	6.80	40,80,000.00	
8	to Awaze Manche	om Karimnagar RH rial/Storage Point - KMS	МТК	6,00,000	8.40	50,40,000.00
7	Transportation f Godowns/stock within a distance not exceeding 1 8.1.6 of scope of	МТК	5,00,000	8.40	42,00,000.00	
6	Transportation fr to Awaze Jagtial, K	МТК	1,50,000	12.00	18,00,000.00	

Bidders quoting for Mandapeta RH shall Mark "Y" against blank cell provided below total estimated amount

"Selected Excess or less and Quoted in percentage "

NOTE:

Please read the below given instructions carefully before submitting the price bid. For any clarifications of doubts, you can contact Asst.General Manager (Materials)-C, [Phone No 0484-256-8123; jayakumarp@factltd.com] or Sr.Officer (Materials)-T&S[Ph.: 0484-256-8629/paulpt@factltd.com], CORPORATE MATERIALS, FACT Ltd., FACT PD Administration Building, Udyogamandal PIN-683 501. Complaints after bid submission will not be entertained.

- I. Multi-sheet BoQ is used in this tender. This type of BOQ will include separate sheets for quoting for each RH destination and the summary sheet. Hence the BOQ will be containing twenty one (21) separate sheets.
- II. The primary sheet of the BoQ is the summary sheet where the total rates quoted against all RH destinations will be displayed automatically. Bidder doesn't have to do anything with the summary sheet other than verifying the displayed value. The summary sheet will be automatically filled up using the data from other sheets for RH destinations.
- III. In the BOQ sheet for each destination, the estimated rates are shown for each item. The bidder has to enter a single "Excess (+) or Less (-) percentage" for each RH in the BoQ for which the bidder wishes to quote.
- IV. This Excess (+) or Less (-) percentage quoted by the bidder will be applied on the FACT's estimate for each item of work for the RH and the rate per unit of each item of work quoted by the bidder will be automatically calculated. GST shall be extra.
- V. Please note that the UoM for most of the items of the work is "MTK" (quantity in MT (1000 Kg) multiplied by distance in km) as quantity to be transported would depend on actual requirement and the point of delivery cannot be ascertained now for FOL basis transportation. Therefore multiplying the rate for these slabs (Rate computed from the quoted percentage) quoted in Rs. Per MT per Km with the quantity in MTK (as provided in the enquiry) will give the value of the respective transportation work.
- VI. Bidder quoting for a Particular RH shall Mark "Y" in the blank cell provided below the total estimated amount for that particular RH and submit along with Part A bid.
- VII. If it is found and verified that bidder has committed any kind of malpractice while filling up the BOQ, he/she shall be immediately disqualified without further notice.

(Signed by)	Authorised Signatory:
Place:	Name and address of the Bidder:
Date:	(Stamp)
PRPD. BY:	71
Transport Services	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED

MATERIALS	Clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana	ENQUIRY No.MM/180/E28527 Dated.18.11.2023
		<u>ANNEXURE: VIII</u>
	<u>Part –B</u> <u>PROFORMA OF PRICE BID</u>	
ease visit https HEETS) 21 she	://eprocure.gov.in and search under FACT Tenders to see the pets.	price Bid (BOQ-EXCEL

ANNEXURE - IX

PROFORMA OF BANK GUARANTEE FOR SECURITY DEPOSIT (TO BE OBTAINED FROM A INDIAN NATIONALISED/SCHEDULED BANK ON STAMP PAPER WORTH Rs.500/-)

То

The Fertilisers and Chemicals Travancore Ltd., Udyogamandal, Cochin-683501.

We, the said Bank, do hereby unconditionally and irrevocably undertake to pay the amount, upon first written demand from the company, without any demur or protest. We, the bank further confirm that the company is not required to state the reasons or show grounds for such demand. Any such demand made by the company shall be binding and conclusive as regards the amount due and payable by the Bank under this guarantee.

We undertake to pay to the Company any money so demanded notwithstanding any dispute or disputes raised by the said Contractor in any suit or proceeding pending before any court or Tribunal relating thereto our liability under this present being absolute and unequivocal.

The payment so made by us under this Guarantee shall be a valid discharge of our liability for payment there under and the said Contractor shall have no claim against us for making such payment.

We..... further agree that the guarantee herein contained shall remain in full force and effect during the period that would be taken for the performance of the said contract and that it shall continue to be enforceable till all the dues of the Company under or by virtue of the said contract have been fully paid and its claim satisfied or discharged or till the Company certifies that the terms and conditions of the said contract have been fully and properly carried out by the said contractor and accordingly discharges this guarantee.

We..... further agree with the said company that they shall have the fullest liberty without our consent and without affecting in any manner our obligations hereunder to vary any of the terms and conditions of the said contract or to extend time of performance by the said Contractor or to postpone for any time and from time to time any of the powers exercisable by it against the said Contractor and either to enforce or forebear from enforcing any of the terms and conditions governing the said contract or securities available to the Company and the said Bank shall not be released from its liability under these presents by any exercise by the Company of the liberty with reference to the matters aforesaid or by reason of time being given to the said Contractor or any other

PRPD. BY:			73
Transport Pervices	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

forbearance, act or omission on the part of the Company or any indulgence by the Company to the said Contractor or any other matter of thing whatsoever which under the law relating to sureties, but for this provision, have the effect of so relieving us.

This guarantee shall not be affected by any change in the constitution of the Bank or the Company or the said Contractor nor shall this guarantee be affected by any change in the constitution of the Company or the said Contractor by absorption with any other body or corporation and this guarantee shall be available to or enforceable by such body or corporation.

Any notice by way of request, demand or otherwise hereunder may be sent by post to the Bank addressed as aforesaid and if sent by post, it shall be deemed to have been given at the time when it would be delivered in due course of post and in proving such notice when given by post, it shall be sufficient to prove that the envelope containing the notice was posted and certificate signed by an officer of the Company that the envelope was so posted shall be conclusive.

Disputes/differences, if any, relating to or arising out of this Bank Guarantee, shall be settled by courts having jurisdiction over Udyogamandal, in Kerala State, where the registered office of the company is situated and no other court shall have jurisdiction in the matter.

Any notice by way of request, demand or otherwise here under may be sent by post or submitted to the bank addressed as aforesaid or any local branch of the bank in Ernakulam District/ Kerala State.

We......Bank lastly undertakes not to revoke this guarantee during its currency except with the previous consent of the Company in writing.

Dated this...... day of Two thousand and Twenty Three.

:

For (Name of Bank)	:
--------------------	---

Authorised Official	
---------------------	--

Name

Designation

Place:

Full address of the Branch issuing this guarantee:

PRPD. BY:		74
Transport Pervices	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT

ANNEXURE-X

Proforma of Agreement to be executed in Rs 200/- Non Judicial stamp paper

AGREEMENT

ARTICLES OF AGREEMENT made this day the Between THE FERTILISERS AND CHEMICALS TRAVANCORE LIMITED, a Company registered under the Travancore Companies ACT IV of 1114(Malayalam Era) and having its registered office at Eloor, Udyogamandal P O Ernakulam District, Kerala State(hereinafter called the FACT) on the one part and M/s.... (hereinafter called the Contractor) which expression shall where the context so admits or applies be deemed to include their heirs, executors, administrators, successors interest and legal representatives as well) on the other part.

WHEREAS the Contractor has agreed with M/s FACT for the due performance of work as set forth in the Work Order No. dt... and accompaniments upon the terms and conditions therein mentioned as accepted vide their endorsements in the aforesaid work order.

NOW THESE PRESENT WITNESS THAT in consideration of the payments to be made by M/s FACT mentioned in the aforesaid Work Order no. dt. and accompaniments thereunto the Contractor shall duly perform the said works, fulfill and keep all conditions in the work order which will be deemed and taken to be part of this contracts as if the same had been fully set-out herein and FACT hereby agree that if the Contractor shall duly perform the said works in the manner aforesaid and observe and keep the said terms and conditions, FACT will pay to the Contractor at the time and in the manner set forth in the aforesaid work order and in the Annexure thereunto as accepted by Contractor vide his endorsement in the aforesaid work order, the amount or amounts calculated at the rate mentioned and as per terms stipulated therein as payment for the work. This agreement shall be in force up to ...

THE SAID CONDITIONS shall be read and construed as forming part of this Agreement and the parties thereto will respectively abide by and submit themselves to the conditions and stipulations and perform the agreement on their parts respectively.

UPON THE TERMS AND CONDITIONS of this Agreements being fulfilled and performed to the satisfaction of Officer of the Company empowered by the Company in this behalf, the Security Deposit remitted by the Contractor or such position thereof as he may be entitled to under the said condition shall be returned to the contractor.

IN WITNESS thereof the Contractor, M/s.... and The Manager (Materials) T &S of M/s The Fertilisers and Chemicals Travancore Ltd, For and on behalf of the Company have hereunto set their hands this day and year first above written.

For In the presence of witnesses: 1. 2. In the presence of witnesses: 1. 2. PRPD. BY: FERTILISERS AND CHEMICALS TRAVANCORE LIMITED FACT

Clearing, handling and transportation of bagged products (fertilizers, gypsum or other materials) at various Rail Heads (RH) in Andhra Pradesh & Telangana

ANNEXURE-XI

DETAILS OF FACT ZONAL OFFICES IN ANDHRA PRADESH & TELANGANA

SI.No	Regio	onal Office	Telephone	RH
1	HYDERABAD FACT Zonal Office 11-5-338, 1 st Floor, Bazarghat Road, Hyderabad, <u>500 004</u>		040-23394196 040- 23317310	NIZAMABAD, JADCHERLA, GADWALA, (SANATNAGAR)/HYDERA BAD, KAMAREDDY
2	NELLORE FACT Zonal Office <u>5-18-1, 1</u> st Floor, Prakash Nagar PADUGAPPAD/NELLO Stonehousepet, NAN NELLORE – 524 002.	DYAL & ONGOLE	0861-2326618	NELLORE, KURNOOL, NANDYAL, ANANTHAPUR, KADAPPA RENIGUNTA, ONGOLE & ADONI
3	WARRANGAL , FACT Zonal Office D.No.1-8-143/1 Opposite DENA Bank Balasamudram Hanamkonda WARRANGAL – <u>506 (</u> Telangana.		<u>0870-2443988</u>	WARRANGAL, KARIMNAGAR, MIRIYALGUDA, KHAMMAM, MANCHERIAL.
4	VIJAYAWADA FACT Zonal Office D.NO.29-2-6,Kamala Ramamandiram Roa Governorpet VIJAYAWADA – 520	d	0866-2431365 0866-2442080	VIJAYAWADA(KC Canal) GUNTUR, MANDAPETA (Dwarapudi) TADAPALLIGUDAM & NARASARAOPET
PRPD. BY	Y:			76
Trans	portServices	FERTILISERS / TRAVANCOF	AND CHEMICALS	FACT

<u>ANNEXURE- XII</u>

(To be executed in plain paper)

INTEGRITY PACT

Between

The Fetilizers and Chemicals Travancore Limited (FACT), a company formed and registered under the Travancore Companies Act IX to 1114 (Companies Act, 2013) and having its registered office at Eloor, Udyogamandal-683501, Kochi, Ernakulam District, Kerala, hereinafter referred to as "The Principal".

And

..... hereinafter referred to as "The Bidder/ Contractor".

Preamble

In order to achieve these goals, the Principal will appoint an Internal External Monitor (EIM), who will monitor the tender process and execution of the contact for compliance with the principle mentioned above.

Section 1 - Commitments of the Principal

(1) The Principal commits itself to take all measures necessary to prevent corruption and to observe the following principles:

a) No employee of the Principal, personally or through family members, will in connection with the tender, or the execution of the contract, demand, take a promise for or accept, for self or third person, any material or immaterial benefit which the person is not legally entitled to.

b) The Principal will, during the tender process, treat all Bidder(s) with equity and reason. The Principal will in particular, before and during the tender process, provide to all Bidder(s) the same information and will not provide to any Bidder(s) confidential / additional information through which the Bidder(s) could obtain an advantage in relation to the tender process or the contract execution.

c) The Principal will exclude from the process all known prejudiced/interested persons.

(2) If the Principal obtains information on the conduct of any of its employees which is a criminal offence under the India Penal Code / Prevention of Corruption Act, or if there be a substantive suspicion in this regard, the Principal will inform the Vigilance Officer and in addition can initiate disciplinary actions.

PRPD. BY:			77
Transport	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

Section 2 - Commitments of the Bidder(s) / Contractor(s)

(1)The Bidder(s) / Contractor(s) commits themselves to take all measures necessary to prevent corruption. He commits himself to observe the following principles during his participation in the tender process and during the contract execution.

a) The Bidder(s) / Contractor(s) will not, directly or through any other person or firm, offer, promise or give to any of the Principal's employees involved in the tender process or the execution of the contract or to any third person, any material or immaterial benefit which he/she is not legally entitled to, in order to obtain in exchange, any advantage of any kind whatsoever during the tender process or during the execution of the contract.

b) The Bidder(s) / Contractor(s) will not enter with other Bidders into any undisclosed agreement or understanding, whether formal or informal. This applies in particular to prices, specifications, certifications, subsidiary contracts, submission or non-submission of bids or any other actions to restrict competitiveness or to introduce cartelisation in the bidding process.

c) The Bidder(s) / Contractor(s) will not commit any offence under the relevant IPC/PC Act; further the Bidder(s)/Contractor(s) will not use improperly, for purposes of competition or personal gain, or pass on to others, any information or document provided by the Principal as part of the business relationship, regarding plans, technical proposals and business details, including information contained or transmitted electronically.

d) The Bidder(s) / Contractor(s) of foreign origin shall disclose the name and address of the Agents / Representatives in India, if any. Similarly, The Bidder(s) / Contractor(s) of Indian Nationality shall furnish the name and address of the foreign principals, if any. All the payments made to the India agent/representative have to be in Indian rupees only.

e) The Bidder(s) / Contractor(s) will, when presenting his bid, disclose any and all payments he has made, is committed to, or intends to make to agents, brokers or any other intermediaries in connection with the award of the contract.

(2) The Bidder(s) / Contractor(s) will not instigate third persons to commit offences outlined above or be an accessory to such offences.

Section 3 - Disqualification from tender process and exclusion from future contracts

If the Bidder(s)/Contractor(s), before award or during the execution of has committed a transgression through a violation of Section 2 above or in any other form such as to put his reliability or credibility in question, the Principal is entitled to disqualify the Bidder(s)/ Contractor(s) from the tender process or to terminate the contract, if already signed, for such reason.

Section 4 - Compensation for Damages

(1) If the Principal has disqualified the Bidder(s) from the tender process prior to the award

PRPD. BY:			78
	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

according to Section 3, the Principal is entitled to demand and recover the damages equivalent to Earnest Money Deposit/Bid Security.

(2) If the Principal has terminated the contract according to Section 3, or if the Principal is entitled to terminate the contract according to Section 3, the Principal shall be entitled to demand and recover from the Contractor liquidated damages of the contract value or the amount equivalent to Performance Bank Guarantee.

Section 5 - Previous Transgression

(1) The Bidder declares that no previous transgression occurred in the last 3 years with any other Company in India conforming to the anti-corruption approach including Public Sector Enterprise in India that could justify his exclusion from the tender process.

(2) If the Bidder makes incorrect statement on this subject, he can be disqualified from the tender process and appropriate action can be taken including termination of contract, if already awarded, for such reason.

Section 6 - Equal treatment of all Bidders / Contractors / Subcontractors

(1)The Bidder(s)/Contractor(s) undertakes(s) to demand from all subcontractors a commitment in conformity with this Integrity Pact, and to submit it to the Principal before contract signing.

(2) The Principal will enter into agreements with identical conditions as this one with all Bidders, Contractors/Suppliers and Subcontractors.

(3) The Principal will disqualify from the tender process all Bidders who do not sign this Pact or violate its provisions.

Section 7 – Criminal charges against violating Bidder(s) / Contractor(s) /Subcontractor(s)

If the Principal obtains knowledge of conduct of a Bidder, Contractor or Subcontractor, or of an employee or a representative or an associate of a Bidder, Contractor, or Subcontractor which constitutes corruption, or if the Principal has substantive suspicion in this regard, the Principal will inform the same to the Chief Vigilance Officer.

Section 8 - Independent External Monitor/Monitors

(1) The Principal appoints competent and credible Independent External Monitor for this Pact. The task of the Monitor is to review independently and objectively, whether and to what extent the parties comply with the obligations under this agreement.

(2) The Monitor is not subject to instructions by the representatives of the parties and performs his functions neutrally and independently. It will be obligatory for him to treat the obligations and document of the Bidder(s)/Contractor(s) as confidential. He reports to the Chairperson and managing Director, FACT.

PRPD. BY:			79
Transport	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	

(3) The Bidder(s)/Contractor(s) accepts that the Monitor has the right to access without restriction to all Project documentation of the Principal including that provided by the Contractor. The Contractor will also grant the Monitor, upon his request and demonstration of a valid interest, unrestricted and unconditional access to this project documentation. The same is applicable to Subcontractors. The Monitor is under contractual obligation to treat the information and documents of the Bidder(s)/Contractor(s)/ Subcontractor(s) with confidentially.

(4) The Principal will provide to the Monitor sufficient information about all meetings among the parties related to the Project provided such meetings could have an impact on the contractual relations between the Principal and the Contractor. The parties offer to the Monitor the option to participate in such meetings.

(5) As soon as the Monitor notices, or believes to notice, a violation of this agreement, he will so inform the Management of the Principal and request the Management to discontinue or to take corrective action, or to take other relevant action. The Monitor can in this regard submit non-binding recommendation. Beyond this, the Monitor has no right to demand from the parties that they act in a specific manner, refrain from action or tolerate action.

(6) The Monitor will submit a written report to the Chairman and Managing Director, FACT within 8 to 10 weeks from the date of reference or intimation to him by the Principal and, should the occasion arise, submit proposals for correcting problematic situations.

(7) Monitor shall be entitled to compensation on the same terms as being extended to / provided to Independent Director on FACT Board.

(8) If the Monitor has reported to the Chairman and Managing Director, FACT, a substantiated suspicion of an offence under relevant IPC/PC Act, and the Chairman and Managing Director, FACT has not, within reasonable time, taken visible action to proceed against such offence or reported it to the Chief Vigilance Officer, the Monitor may also transmit this information directly to the Central Vigilance Commissioner.

(9) The word 'Monitor' would include both singular and plural.

Section 9 - Pact Duration

This Pact begins when both parties have legally signed it. It expires for the Contractor 12 months after the last payment under the contract, and for all other Bidders 6 months after the contract has been awarded.

If any claim is made / lodged during this time, the same shall be binding and continue to be valid despite the lapse of this pact as specified above, unless it is discharged / determined by the Chairman and Managing Director, FACT **Section 10** - **Other provisions**

(1) This agreement is subject to Indian Law. Place of performance and jurisdiction is the Registered Office of the Principal, i.e. Udyogamandal, Kerala.

(2)Changes and supplements as well as termination notices need to be made in writing.

Transport Services	FERTILISERS AND CHEMICALS TRAVANCORE LIMITED	FACT	00

FACT CORPORATE MATERIALS	(fertilize	nandling and transportations, gypsum or other mater s (RH) in Andhra Prades	ials) at various	Rail	ENQU No.MM/180 Dated.18.)/E28527	
Side agreements have not been made.							
	(3) If the Contractor is a partnership or a consortium, this agreement must be signed by all partners or consortium members.						
	emains valid.	ovisions of this agreemen In this case, the parties v					
(5) The Bidder / the matters to IE	Contractor si Ms and he/sh	gning this "Integrity Pact ne shall wait their decisior	" shall not appro is in this matter.	ach the	e court while	representing	
(For & On behalf (Office		 bal) For	& On behalf of E	Bidder(s e Seal))/Contractor(s)	
Place: Date:			(0				
Witness1: (Name & Address	5)		Witness (Name & Ad				
PRPD. BY:						81	
Transport Serv	vices	FERTILISERS AND TRAVANCORE LI			FACT		